EMFOWERED FERFORMANGCE

OMALBR ZL /R P=Suin & A

OMAL'S GENERAL CATALOGUE



EMPOWERED PERFORMAND

|



(TEeHiE

=+5E%, 0 Ay A - L rescia , TERCAR). @E.
S e B W F e
IR IURERHE— "ERSHD 8y &8 . | =0 e A - AT AR S
SHIUTRINERS | RIMEHITa _ —— ' " 5 [N e g IS A \T- 3550072 , OMAL BX
51, SRR A AR, S, : Lo T BaAzek Y AR 04 ke | P22l TY : EEIRIES T AL, XAS. A%,

HIRORI PR — AR AT | ILFBFIRIBIEREEIT. AL . i ' i ok HUE L, ST LS TR

RE(RAIRRTIZE, 3

e, s il tH R L S FO
Rzt | . A I

BATEL NEIT 2003 ERFBATETA
Hlk C MRS EKEE , ST OMAL RID/RE
LEL ' EEFEIJE%&E‘%LAEOMALIZAEfR

e RS ' » = SHES. R, AFFDHESHER
% 1509001, : _‘ _ - TR EEHIES | IRBRS

EFRIAIE.




4 - PNEUMATIC ACTUATORS - LIST OF CONTENTS 1/3 OMALSpA

=

SLIHITES - LIST OF CONTENTS 1/3
Pag:

4 . Pneumatic actuators

41 - DA~ 6
XS EHITEE DAOS(Nm) 8
SEISEI11T DAN15~DAN60(Nm) 9
WENSE1#11T88 DAN106 ~ DAN720(Nm) 10
WS a1788 DAN960~ DAN1920(Nm) 11
WaSzhiTes DA2880(Nm) 12
XENS 1 TEE DA3840(Nm) 12
Wz S Tes DAS760(Nm) 14
WaISaI TEE DA8000(Nm) 15
41 - <<SR*” 16
BEENSEN1TEE SRN15~ SRN53(Nm) 18
BTSEIATES SRN60~ SRN360(Nm) 19
EATNSENH{TE8 SRN480~ SRN960(Nm) 20
BIENSENATES SR1440(Nm) 21
BESEIHhITEE SR1920(Nm) 22
BIEHSENHITES SR2880(Nm) 23

BRI Sl 728 SRA000(Nm) 24



4 « PNEUMATIC ACTUATORS - LIST OF CONTENTS 2/3 OMALSPA. i

/:Tz:ﬂﬂlf/j_'%- L/IST OF CONTENTS 2/3

Pag:

43 - ““DA”~ 25
44 - ““SR~~ 29
45 - EF—EFR S TETIETEE 33
46 - Wi "DA" RETHEEREEECFSM 34
47 - B3 "SR" RIUTHEIEREEECFSM 36
48 - W "DA” FHFITHEHF316 38
49 - BEFh "SR" RFUTEENF316 40
410 Xzl “DA”" ZEZeENA105 42
411 -EAzf “SR” ZEZH%ENAT105 44
4.12 - I EESHITEE 46




5 « ELECTRIC ACTUATORS

@Z;:Zbﬁlf/]_'% - LIST OF CONTENTS

5 - Electric actuators

51 - AECOOO00000T

52 -AMOOOO0000

HESHtHE
BSEEE

3 - EACIOIOI0T07 070707

T1ErEE

4 - EF25-25017070707

OMALSPA

Pag:

50

52

54
55

56

58

60



y N
o 4+ PNEUMATIC ACTUATORS OMAL SpA.

4
-

SEhiiTez
PNEUMATIC ACTUATORS

DA WaiS o788 DOUBLE ACTING




4 « PNEUMATIC ACTUATORS OMALSPA. i

4
-

SRS

FESETAEZEEIRI BT
o Less friction between piston and cylinder
B a S - S
1 BIEIRESIEAEERT , BiERtt et SEIRYE %
Energized and self-lubricated strips
It prevents the bonding of the seal to the cylinder even after long periods of
inactivity
HRRE, WE. EEIMRYGRESN, EEBIZ50HRC BERRIFAUIRT I TR NERAYDE
2
Slots, bushes and pins made by steel with hardness higher than 50 HRC Higher resistance to the forces inside the actuator
KRB SEHENENRNER EEREE
3
Rolling friction between piston and slot Less friction
BRI BIEERRR) | EEREMHRI RIS
Reduced friction between piston and shaft with consequently less wear on the
relevant parts
BB RS
Empowered Breakaway Torque (BTO & BTC)
EEHERET , RIRECER AR HUTER/N , EIAT S=SEIE N
. R . — oL o Smaller volume/size than rack and pinion actuators (with the same torque)
JA&zs 5 S S S
RN SAPUTERSERIELERAAREFOMENEISET) | ororore ress space required for metallation
4 Scotch yoke with rolling friction (transforming rotary motion into linear
motion using piston and shaft without teeths/gears)
TR SR ITESERIR30% , RIS RHNEAIRA
Less weight than the rack and pinion (-30% kg / Nm), with consequent savin-
gs on the construction sizing of the plant/equipment
TR R TUHI TSRS 2 2ME40% (Wah ) 56 20% ( BE)
IERS =S AT R EESK (R
Lower air consumption compared to the rack and pinion actuators (-40% air
cm3/Nm for Double Acting and -20% air cm3/Nm for Spring Return) therefore
less load on the compressor or the possibility of using a smaller compressor's
size.
. BT RENRENBEE | ZHMONERSEN
R G
5 Less wear of the energized ties thanks to the low roughness of the surface
Rolled cylinder (0.15 micron Ra)
DAN15LA ERIHTESERE S N ANAMURER: REERRMUERAR
o . ) . o
From sizes bigger than DAN15, NAMUR interface for solenoid valve is No need for extra plate. LE—( g
already integrated. =5
L
£3
FELEF=100%7E L) M5ehk. SIHPE T RATEE LR S%
<
> 2
100% in- house manufacturing process technology Maximum control and accuracy in all the stages of the manufacturing process E %
5 Sz i 2 2
BSIEE-ES ATEX BeEFRT AR SZIRING
ATEX Certificate Installation is allowed in a potential explosive environment
SIL3INIE RIESKFENIRERE,
SIL 3 Certified Guarantee of the high level of functional safety.




. 41+ PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA'TYPE OMAL S.pA.

e
-

“DA,,

TECHNICAL FEATURES
> 1H%E : 8Nm~8000Nm Torque from 8 Nm to 8000 Nm.
> LEE=  FFEENISO 5211 FO3 - FO4 - FO5 - FO7 - F10 - F12 Mounting flange according to EN 1O 5211
-F14 - F16 - F25 FO3 - FO4- FO5 - FO7 - F10- F12- F14 - F16 - F25.
> BEESFREE : 92° (-1° +91°) In accordance with EN 15714-3

: = . N— —+ A" . Rotation angle: 92° (-1°, +91°)
> 1HIE : RIESIRANRLPIET , Wah “DA” ZSURIFFSHIERT Torque: directly proportional to the air supply (see table).

%EEE’\J?}E}:T:ZJE,%ES.GMF . The code numbers after the DA letters, always correspond to the breakaway
> WHRELS  [HRRS , f5E 2014/34/EU ATEXITAE torque in Nm by 5,6 bar air supply.

On request: ATEX version in conformity with directive 2014/34/EU.

WORKING CONDITIONS
> JEEE: 0° C ~ +80° C (FEss) Temperature: from 0°C to +80°C; from -20°C to +80°C with dry air only. (Spe-
> SRS EREAY (-20° C ~ +150° C) ; cial versions: high temperature:-20°C +150°C; low temperature: -50°C +60°)
(ERY (-50° C ~ +60° ) Air supply: 5,6 bar; maximum 8,4 bar (7 bar for DA8000).

Operating media: compressed filtered air, not necessarily lubricated.
In case of lubricated air, either non detergent oil or NBR compatible oil, must
be used.

> SiRES : 5.6bar (F&==8.4bar)

> TR FEERES  AREES.
MRBFBTSNAETER |, LIRAESHSERT T EgRRAE
b=



1 « PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA"TYPE

Output torque diagram related to rotation angle

OMAL S.pA.

y N
..

4
-

o — . o =
Nm fl:\/__l, Air fl:\/__l, Air Nm
100% 100%
75% \ 75%
50% 50%
25% 25%
0° 15° 30° 45°  60° 75 90° 750 60°  45°  30° 15° 0°
(Nm) OUTPUT TORQUE TABLE (Nm) a°= [EEEAE a°=ROTATION ANGLE
W SIZE a°® 3bar 4 bar 5bar 5,6 bar 6 bar 7 bar 8bar
0° 43 5,7 7,1 8,0 8,6 10,0 11,4
DA 08 45° 2,1 2,8 3,6 4,0 43 5,0 57
90° 43 5,7 7,1 8,0 8,6 10,0 11,4
0° 8,0 10,7 13,4 15,0 16,1 18,8 21,4
DAN 15 50° 4,0 54 6,7 7.5 8,0 9,4 10,7
90° 6,0 8,1 10,1 11,3 12,1 14,1 16,1
0° 16,1 21,4 26,8 30,0 32,1 37,5 42,9
DAN 30 50° 8,0 10,7 13,4 15,0 16,1 18,8 21,4
90° 12,0 16,1 20,1 22,5 24,1 28,1 32,1
0° 24,0 32,1 40,2 45,0 483 56,4 64,2
DAN 45 50° 12,0 16,2 20,1 22,5 24,0 28,2 32,1
90° 18,0 24,3 30,3 34,0 36,3 423 48,3
0° 32,1 429 53,6 60,0 64,3 75,0 85,7
DAN 60 50° 16,1 214 26,8 30,0 32,1 37,5 42,9
90° 24,1 32,1 40,2 45,0 48,2 56,3 64,3
0° 56,8 75,7 94,6 106,0 113,6 132,5 151,4
DAN 106 50° 28,4 37,9 47,3 53,0 56,8 66,3 75,7
90° 429 57,1 71,4 80,0 85,7 100,0 114,3
0° 64,3 85,7 107,1 120,0 128,6 150,0 171,4
DAN 120 50° 32,1 42,9 53,6 60,0 64,3 75,0 85,7
90° 48,2 64,3 80,4 90,0 96,4 112,5 128,6
0° 96,0 128,4 160,8 180,0 193,2 225,6 264,8
DAN 180 50° 48,0 64,8 80,4 90,0 96,0 112,8 128,4
90° 72,0 97,2 121,2 135,0 145,2 169,2 193,2
0° 128,6 1714 214,3 240,0 257,1 300,0 342,9
DAN 240 50° 64,3 85,7 107,1 120,0 128,6 150,0 171,4
90° 96,4 128,6 160,7 180,0 192,9 225,0 257,1
0° 192,0 256,8 321,6 360,0 386,4 451,2 513,6
DAN 360 50° 96,0 129,6 160,8 180,0 192,0 225,6 264,8
90° 144,0 194,4 2424 270,0 290,4 3384 386,4
0° 257,1 342,9 428,6 480,0 514,3 600,0 685,7
DAN 480 50° 128,6 1714 2143 240,0 257,1 300,0 342,9
90° 192,9 257,1 3214 360,0 385,7 450,0 514,3
0° 384,0 513,6 643,2 720,0 772,8 902,4 1027,2
DAN 720 50° 192,0 259,2 321,6 360,0 384,0 451,2 529,6
90° 288,0 388,8 484,8 540,0 580,8 676,8 772,8
0° 514,3 685,7 857,1 960,0 1028,6 1200,0 1371,4
DAN 960 50° 257,1 3429 428,6 480,0 514,3 600,0 685,7
90° 385,7 514,3 642,9 720,0 7714 900,0 1028,6
0° 768,0 1027,2 1286,4 1440,0 1545,6 1804,8 2057,4
DAN 1440 50° 384,0 518,4 643,2 720,0 768,0 902,4 1059,2
90° 576,0 777,6 969,9 1080,0 1161,6 1353,6 1545,6
0° 1028,6 13714 1714,3 1920,0 2057,1 2400,0 2742,9
DAN 1920 50° 514,3 685,8 857,1 960,0 1028,6 1200,0 1371,4
90° 7714 1028,6 1285,7 1440,0 1542,9 1800,0 2057,1
0° 1543,0 2057,0 2571,4 2880,0 3085,7 3600,0 4114,3
DA 2880 50° 7714 1028,6 1285,7 1440,0 1543,0 1800,0 2057,1
90° 1157,0 1543,0 1928,6 2160,0 2314,3 2700,0 3085,7
0° 2050,0 2840,0 3425,0 3840,0 4110,0 4880,0 5485,0
DA 3840 50° 1025,0 1370,0 1710,0 1920,0 2055,0 2400,0 2740,0
90° 1540,0 2055,0 2570,0 2880,0 3085,0 3600,0 4014,0
0° 3085,7 41143 5143,0 5760,0 6171,4 7200,0 8228,6
DA 5760 50° 1542,9 2057,0 2571,4 2880,0 3085,7 3600,0 4114,3
90° 2314,3 3085,7 3857,1 4320,0 4628,6 5400,0 61714
0° 4285,7 5714,3 7142,9 8000,0 8571,4 10000,0
DA 8000 50° 2142,9 2857,1 3571,4 4000,0 4285,7 5000,0
90° 3214,3 4285,7 5357,1 6000,0 6428,6 7500,0

-7-

O
2
=
o}
wl
=z
a
5
2
D
E
<C

PNEUMATIC ACTUATORS



. 41+ PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA'TYPE OMAL S.pA.

S S  —— II—
e
-

DAO0S8 (Nm)
Double acting pneumatic actuator size DA08 (Nm)

70

J9 HII

~__|
3
N\ n°4 M5x8
%36 FO3
D16 8hil
@10 4
T o922 o]
1/8" GAS S N2 MEx5 =
] =1 ¢ B ’
1 o%Y | @ Y.,
g ~ ‘ 8 5
—- - -1 - - N —t- - —
n ! < q‘ I
© - N
| S O S ) |
<O

(6]

©
~
10.1
)
o
)
w
o

N
N
25 43.2
30 n°4 M5xé

—

DATA SHEET

Code DA008401S
E& Weight Kg 0,29
FESE Airvolume dm3/cycle 0,034
& Spare seals KGD10010

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-8-



1 - PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING “DA"TYPE OMALSPA. i

4
-

DAN15—~DAN60 (Nm)
Double acting pneumatic actuator sizes from DAN15 (Nm) to DAN60 (Nm)

OB H11

- - 52,
/@/ ] o)
v e/ T
"7
— = = 4( — = Dispositivo di limitazione della corsa
Stroke limiter device
a\ (max 10°)
< & <
Dispositivo di limitazione della corsa w 5
Stroke limiter device T T
(max 10°)
D C
DR
e
of
Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface
i P4
— ’L
\a) W " —
[N /
A @ @_7 )
| 1
o
QO - s
24 Anello di centraggio a richiesta
Centering ring on request
80
ENISO 5211
— . L
Il | 3 a\% =
™ | ®)

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

Code DANO0015411S DANO0015412S DANO0030411S DANO0030412S DANO0045411S DANO0045412S DANO0060411S DAN0060412S

B seals KGGI0012 KGGI0014 KGGI0015 KGGI0016

M Size DAN15 DAN30 DANA45 DAN60

1SO FO3 FO4 FO3/F05 Fo4 Fo4 FO3/F05 FO4 FO5/F07

A 159,1 159,1 174,3 174,3 188,5 188,5 198,1 198,1

B 1 1 1 1 1 1 14 14

Cx depth M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 M6x9

D x depth - - M6x9 - - M6x9 - M8x12

E 36 42 36 42 42 36 42 50

F - - 50 - - 50 - 70

G 10 10 10 10 13 13 13 13

H 26,8 26,8 30,3 30,3 325 32,5 35,7 35,7

I 8 8 9 9 10 10 10 10 = ﬁg
L 72,2 72,2 79,2 79,2 84,5 84,5 90,4 90,4 =5
M 28 28 31,5 31,5 34,5 34,5 37,7 37,7 § 8
N 44,2 44,2 47,7 47,7 50 50 52,7 52,7 &y
o) 13,2 13,2 13,2 13,2 13,2 13,2 16,5 16,5 §§
P 24,2 24,2 27,7 27,7 30 30 32,7 32,7 f:_‘ =
Q 28 28 31,5 31,5 34,5 34,5 37,7 37,7 EE
R 9,2 9,2 10,9 10,9 12,7 12,7 14,5 14,5
S 20 20 20 20 20 20 20 20
T 52,2 52,2 59,2 59,2 64,5 64,5 70,4 70,4
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/8"
Ch 13 13 13 13 13 13 13 13
EHE (Kg) 0,75 0,75 1 1 1,2 1,2 1,6 1,6
Air (dm3/cycle) 0,08 0,08 0,15 0,15 0,22 0,22 0,3 0,3

H = CENTRO DEI FISSAGGI BASETTA  H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-9-



. 41+ PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA'TYPE

4
-

DAN106—DAN720 (Nm)

OMAL S.pA.

Double acting pneumatic actuator sizes from DAN106 (Nm) to DAN720 (Nm)

A
OB H11
- é//_\ - %\u
— = = 45 = = — Dispositivo di limitazione della corsa
Stroke limiter device
0 (max 10°)
<
Dispositivo di limitazione della corsa ® b ‘{M
Stroke limiter device T T
(max 10°)
D C
LR,
of
Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface
i =z
\
o
\a) W I —
{1,
| 1
QO - s .
d
24 Anello di centraggio a richiesta
Centering ring on request
80
ENISO 5211
o o,
Qi s E ¢ 5
°o % o |
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
BIS Code DANO0106411S DANO0120411S DANO0180411S DAN0240411S DAN0360411S DANO0480411S DAN0720411S
ZEYEE seals KGGI0060 KGGI0018 KGGI0019 KGGI0020 KGGI0021 KGGI0022 KGGI0023
I Size DAN106 DAN120 DAN180 DAN240 DAN360 DAN480 DAN720
I1SO FO5/F07 FO5/F07 FO7/F10 FO7/F10 FO7/F10 F10/F12 F10/F12
A 2371 2574 289,9 3136 3393 387,7 433
B 17 17 22 22 22 27 27
Cx depth M6x9 M6x9 M8x12 M8x12 M8x12 M10x15 M10x15
D x depth M8x12 M8x12 M10x15 M10x15 M10x15 M12x18 M12x18
E 50 50 70 70 70 102 102
F 70 70 102 102 102 125 125
G 13 13 16 17 19 19 19,5
H 42,8 44,8 54,5 58,1 60 574 61,5
| 12 12 15 15 19 19 22
L 103,3 107 137,5 1411 148 164,9 178
M 44,8 46,8 56,5 60,1 62 72,9 78,5
N 58,5 60,2 81 81 86 92 99,5
(0] 19,3 19,3 24,8 24,8 243 29,5 29,5
P 38,5 40,2 51 51 56 62 69,5
Q 44,8 46,8 56,5 60,1 62 729 78,5
R 16,2 18 20,2 22,5 25,5 29 31,8
S 20 20 30 30 30 30 30
T 83,3 87 107,5 11,1 118 134,9 148
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8" 1/4" 1/4"
Ch 17 17 22 22 22 27 27
HE (Kg) 2,5 2,6 4,6 54 6,5 9,6 12
Air (dm3/cycle) 0,55 0,59 0,95 13 1,8 2,6 35

H = CENTRO DEI FISSAGGI BASETTA  H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-10 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



y N

4.1 « PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING “DA"TYPE A

OMAL S.pA.

4
-

DAN960—DAN1920 (Nm)
Double acting pneumatic actuator sizes from DAN960 (Nm) to DAN1920 (Nm)

A
OB H11
. 4“ é//_\ - %\u
— = = 45 = = — Dispositivo di limitazione della corsa
Stroke limiter device
0 (max 10°)
<
Dispositivo di limitazione della corsa ® b ‘{M
Stroke limiter device T T
(max 10°)
D C
LR,
of
Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface
i =z
\
o
\a) W I —
{1,
| 1
QO - s .
d
24 Anello di centraggio a richiesta
Centering ring on request
80
ENISO 5211
5. P \
e - . @ _— 1
din) 8 E ¢ | D8
°o % o |
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code DAN0960411S ‘ DAN0960412S DAN1440412S ‘ DAN1440411S DAN1920412S ‘ DAN1920411S
LA seals KGGl0024 KGGI0025 KGGI0026
Size DAN960 DAN1440 DAN1920
I1SO F10/F12 F14 F12 F14 F12/F16 F14
A 4794 4794 567 567 601 601
B 36 36 36 36 46 46
Cx depth M10x15 M16x24 M12x18 M16x24 M12x18 M16x24
D x depth M12x18 - - - M20x30 -
E 102 140 125 140 125 140
F 125 = = = 165 =
G 19,5 19,5 19,5 19,5 18,5 18,5
H 78 78 86,5 86,5 99,2 99,2
[ 24 24 27 27 32 32 SR
= O
L 198 198 216 216 237,7 237,7 <§( =
M 93,5 93,5 101,5 101,5 114,7 114,7 g 8
N 104,5 104,5 114,5 114,5 123 123 as
0 385 385 385 38,5 48,5 48,5 5 =
P 74,5 745 84,5 84,5 93 93 =F
Q 93,5 93,5 101,5 101,5 114,7 114,7 E QZ_
R 36,5 36,5 41 41 46 46
S 30 30 30 30 30 30
T 168 168 186 186 207,7 207,7
W (Gas) 1/4" 1/4" 1/4" 1/4" 1/4" 1/4"
Ch 27 27 36 36 36 36
HE Kg) 174 17,4 234 234 32 32
Air (dm3/cycle) 4,9 4,9 7,6 7,6 10,2 10,2

H = CENTRO DEI FISSAGGI BASETTA H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-11

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



. 41+ PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA'TYPE OMAL S.pA.

4
-

DA 2880 (Nm)

667
560

46 188 L 372
(146 H11

D,

v
I

| i _
|

\
I Regolatore di corsa
+EE X X Stroke adjustment
(+/- 5°max)
Regolatore di corsa (o)
Stroke adjustment
(+/-5°max) —L > -~ —

s

40 $ 165 F16
20,
3/8" GAS
4 ¢
® T @ Interfaccia EN15714-3 (Namur 2) 311
4 o EN15714-3 (Namur 2) interface
n°4 M6x10 N 36 h1l
@72 4
@_5% o <«
i
o =
_ - (97]
— o ! ? k -
wn
10 3 3y | 2
3 3 %)
B
- r | , 1 - A_l% )
T 3
i
o T
@ T
n°4 M20
ENISO 5211 ~
M6x12 130 n°4 M5x8
|
JE IS ——
* ¢ 4
Sk |
o
= Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)

Accessories interface EN 15714-3 (VDI/VDE 3845)

DATA SHEET

Code DA2880E16DOA
BE Weight Kg 554
FESE Airvolume dm3/cycle 20,0
KGDI1035

B Spare seals
Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-12 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



4.1 « PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING “DA"TYPE OMALSPA. o
_P.ee e e
—
-

DA 3840 (Nm)
Double acting pneumatic actuator size DA 3840 (Nm)

728
614

046 H11

)/

e Ke—to ...
Dispositivo di limitazione della corsa Dispositivo di limitazione della corsa
Stroke limiter device Stroke limiter device
(max 10°) / x x (max 10°)

40
20
3/8" GAS Interfaccia EN15714-3 (Namur 2)
< EN15714-3 (Namur 2) interface
240
32 hl1
n°4 M6x10 4
LD_ m
[e0]
=1 H
o
— — ™.
°
| O'o ] ©
° o o)
™ —
I Lo
EE : . : : ,SE, o , : 1 S
o — -
™
o
o
T i S,
= - o
™.
N TolY
/ 00| © o
ENISO 5211 ™ ~ n 4 M20
M6x12 130 n°4 M5x8
,
|l 6 ? '] Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
[ | Accessories interface EN 15714-3 (VDI/VDE 3845)

Disponibile versione con doppia regolazione della corsa (+/- 5°max) con codice DA3840E16DOA.
Available version with double stroke adjustment (+/- 5°max) with code DA3840E16D0A.

DATA SHEET

PNEUMATIC ACTUATORS

-
£
=
)
wl
=z
a
5
2
o
E
<C

Code DA3840E1600A
BEE Weight Kg 49,0
FESE Airvolume dm3/cycle 25,6
IS Spare seals KGDI0030

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-13 -



. 41+ PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA'TYPE OMAL S.pA.

. __________________________________________________________________________________________________________
4
-

DA5760 (Nm)

885

744

055 4

11

Regolatore di corsa \ Regolatore di corsa
Stroke adjusltment \0 . \ Stroke adjustment
(+/- 5° max) — (+/- 5° max)
52
225"
40 ¢ 254 F25
3/8'GAs .20
Interfaccia EN15714-3 (NAMUR 2)
T o] I i EN15714-3 (NAMUR 2) interface 361
o To)
@ < 155 206
i
Lo]
- N O72 36 11
n°4 M6x10 ?5 . 4
Oy
o
) — ™
g 1olok t
f n g
T © —
—
: B 11 5
| ()]
~
T Ty ! i
m— ] /]| U1 I B ]
of o N
S n°g M16
Regolatore di corsa
Stroke adjustment
ENISO 5211 (+/- 5° max)
M6x12 130 n°4 M5x8
o
™
ole
1 I Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code DA5760E25D0A
EE Weight Kg 85,5
FESE Airvolume dm3/cycle 38,0
BEIEAG Spare seals KGDI2035

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-14 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



4.1 - PNEUMATIC ACTUATOR > ALUMINIUM DOUBLE ACTING "DA'TYPE OMALSPA. o

. _______________________________________________________________________________________________________________________ M
—
-

DA8000 (Nm)

Regolatore di corsa
Stroke adjustment
(+/- 5° max)

Regolatore di corsa
Stroke adjustment
(+/- 5° max)

52
22 .50 Albero Shaft
D72
40 @254 F25
L 36 hll
3/8" GAS 4
©
¢ o — Interfaccia EN15714-3 (NAMUR 2) —y ¥
- interf
T Qa A Q EN15714-3 (NAMUR 2) interface 8L
¢ ¢
Lo
1 o
n°4 M6x10 N 204

Accessories interface EN 15714-3 (VDI/VDE 3845)

b > T
oo [
— 2 = ol
N [e]
-
—F S
_ = _ | N~
] T —+ 5
@
(2]
N~
i
r
(2 S ®
™
| °
w0 Regolatore di corsa n°g M16
ENISO 5211 Stroke adjustment
(+/- 5° max)
M6x12 130 n°4 M5x8
_ . Y —
d D)
o
™
¢
o} o} Q @
£R
> =<
o,0 >R
s 50
<
d D Y]
==
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845) 'Q §(
=5
EZ
<&

DATA SHEET

Code DA8000E25D0A
E& Weight Kg 105,5
$FESE Airvolume dm3/cycle 50,0
IS Spare seals KGDI1040

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-15 -



. 42 + PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.pA.

e
-

BE)SEiniTeR “SR” R

TECHNICAL FEATURES
> 1H%E : 15Nm~4000Nm Torque from 15 Nm to 4000 Nm.
> LA - FFSEN ISO 52114kE Mounting flange according to EN ISO 5211
FO3 - FO4 - FO5 - FO7 - F10 - F12 - F14 - F16 -F25, FO3 - F04 - F05 - FO7 - F10-F12- F14 - F16 -F25.

In compliance with EN 15714-3
> BFE -
FHEN 15714-3 Rotation angle: 92° (-1°, +91°)

> BTAE : 92° (-1°, +91°) . . . .
- A . w Torque: the return torque depends on spring action only notwithstanding the
. (=] k NFIE= 1) = 5
> {HE : EFEHERURTRERIE , [UNELSE%E SRELS AL air supply. The spring is provided in four different sizes (see table).

?—@ﬁﬁ%&iGbarﬁgﬁf)ﬁﬁﬁ?ﬁgﬁiﬁfﬂfﬁo The code numbers after the letters SR, always correspond to the breakaway
> [BFIRELENIE , fF52014/34/EU ATEXIRAE., torque in Nm by 5,6 bar air supply.

The actuator automatic closing takes place in clockwise direction by means
of its springs.
On request: ATEX version in conformity with directive 2014/34/EU.

WORKING CONDITION
> BE :-20° C~ +80° C (Fg=s5y) Temperature: from 0°C to +80°C; from -20°C to +80°C with dry air only. (Spe-
KBS 1 -20° C ~ +150° C (=igE) cial versions: high temperature:-20°C +150°C; low temperature: -50°C +60°)
-50°C ~ +60° ({GiREY ) Air supply: 5,6 bar; maximum 8,4 bar.
> SJEES] : 5.6bar (E£K8.4bar) Operating media: compressed filtered air, not necessarily lubricated.

In case of lubricated air, either non detergent oil or NBR compatible oil, must
be used.

> RASERE  EETEES  THEE  WRAREEEES , 25k
PRFFImEIERTNBRAVHAE

- 16 -



4.2 « PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMALSPA. o
_P.ee e e
—
-

Output torque diagram related to rotation angle

. /v .
Nm =5 Air SEEE Spring Nm
100% 100%
75% 75%
50% 50%
25% 25%
0° 15° 30° 45° 60° 75° 90° 75° 60° 45° 30° 15° 0°
OUTPUT TORQUE TABLE (Nm) a’= hEEERAE  a°=ROTATION ANGLE
e size o 2,8 bar 40 PSI 3,5 bar + 50 PSI 4,2 bar + 60 PSI 5,6 bar + 80 PSI
5 air SE spring 5 air S8EE spring 5 air E spring 5 air SMEE spring
0° 7,5 5 93 6,3 11,3 7,5 15 10
SRN 15 50° 3,7 3,7 47 4,7 56 56 7,5 7,5
90° 5 7,5 63 9,3 7,5 1.3 10 15
0° 15 10 18,8 12,5 22,5 15 30 20
SRN 30 50° 7,5 7,5 9,4 94 11,3 11,3 15 15
90° 10 15 12,5 18,8 15 22,5 20 30
0° 26,5 17,5 33 22 40 26 53 35
SRN 53 50° 13 13 16,5 16,5 19,5 19,5 26 26
90° 17,5 26,5 22 33 26 40 35 53
0° 30 20 37,5 25 45 30 60 40
SRN 60 50° 15 15 18,8 18,8 22,5 22,5 30 30
90° 20 30 25 37,5 30 45 40 60
0° 45 30 56,4 37,5 67,5 45 20 60
SRN 90 50° 22,5 22,5 28,2 28,2 339 339 45 45
90° 30 45 37,5 56,4 45 67,5 60 90
0° 60 40 75 50 90 60 120 80
SRN 120 50° 30 30 37,5 37,5 45 45 60 60
90° 40 60 50 75 60 90 80 120
0° 90 60 112,5 75 135 90 180 120
SRN 180 50° 45 45 56,2 56,2 67,5 67,5 90 90
90° 60 90 75 112,5 90 135 120 180
0° 120 80 150 100 180 120 240 160
SRN 240 50° 60 60 75 75 90 90 120 120
90° 80 120 100 150 120 180 160 240
0° 180 120 225 150 270 180 360 240
SRN 360 50° 90 20 112,5 112,5 135 135 180 180
90° 120 180 150 225 180 270 240 360
0° 240 160 300 200 360 240 480 320
SRN 480 50° 120 120 150 150 180 180 240 240
90° 160 240 200 300 240 360 320 480
0° 360 240 450 300 540 360 720 480 _
SRN 720 50° 180 180 225 225 270 270 360 360 28
90° 240 360 300 450 360 540 480 720 B~
0° 480 320 600 400 720 480 960 640 g E
SRN 960 50° 240 240 300 300 360 360 480 480 =S
90° 320 480 400 600 480 720 640 960 Sk
0° 900 600 1440 960 'g( s
SR 1440 50° 450 450 720 720 E §
90° 600 900 960 1440
0° 960 640 1200 800 1440 960 1920 1280
SR 1920 50° 480 480 600 600 720 720 960 960
90° 640 960 800 1200 960 1440 1280 1920
0° 1440 960 1800 1200 2160 1440 2880 1920
SR 2880 50° 720 720 900 900 1080 1080 1440 1440
90° 960 1440 1200 1800 1440 2160 1920 2880
0° 2000 1340 2500 1675 3000 2010 4000 2680
SR 4000 50° 1000 1000 1250 1250 1500 1500 2000 2000
90° 1340 2000 1675 2500 2010 3000 2680 4000

-17 -



. 42 + PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.pA.

S S  —— II—
e
-

SRN15—~SRN53 (Nm)
Spring return pneumatic actuator sizes from SRN15 (Nm) to SRN53 (Nm)

A
Al ‘

OB H11

D | — - (PI‘
- °

2 Dispositivo di limitazione della corsa
e = =i = — Stroke limiter device
— (max107)
< NS %)
Dispositivo di limitazione della corsa 0 X - €
Stroke limiter device T
(max 10°)

Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

Anello di centraggio a richiesta
24 nelodice
‘entering ring on request

80

ENISO 5211

| hil

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

Code SRN0015401S SRN0015402S SRN0030401S SRN0030402S SRN0053401S
B4 seals KGGI0014 KGGI0016 KGGIl0060
Size SRN15 SRN30 SRN53
1SO FO3/F05 FO4 FO4 FO5/F07 FO5/F07
A 2333 2333 259 259 304,3
A1 (2,8 Bar) 203,8 203,8 2285 228,5 270,7
B 1 1 14 14 17
Cx depth M5x8 M5x8 M5x8 M6x9 M6x9
D x depth M6x9 - - M8x12 M8x12
E 36 42 42 50 50
F 50 - - 70 70
G 10 10 13 13 13
H 30,3 30,3 35,7 35,7 42,8
I 9 9 10 10 12
L 79,2 79,2 90,4 90,4 103,3
M 31,5 31,5 37,7 37,7 448
N 47,7 47,7 52,7 52,7 58,5
o) 13,2 13,2 16,5 16,5 19,3
P 27,7 27,7 32,7 32,7 38,5
Q 31,5 31,5 37,7 37,7 448
R 10,9 10,9 14,5 14,5 16,2
S 20 20 20 20 20
T 59,2 59,2 70,4 70,4 83,3
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8"
Ch 13 13 13 13 17
=& (Kg) 1,2 12 1,95 1,95 3
Air (dm3/cycle) 0,09 0,09 0,17 0,17 03

H = CENTRO DEI FISSAGGI BASETTA H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-18 -



4.2 « PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE

SRN60—SRN360 (Nm)

OMAL S.pA.
..

4
-

Spring return pneumatic actuator sizes from SRN60 (Nm) to SRN360 (Nm)

Dispositivo di limitazione della corsa
Stroke limiter device
(max 10°)

Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

A
Al )
0B H11
,,?‘,‘ /\\‘, ,/\“PS\O
(| =0=|
)3 4 e
D T \\C

4

O

80

| hil

T (max10°)

Dispositivo di limitazione della corsa
Stroke limiter device

Anello di centraggio a richiesta
Centering ring on request

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

ENISO 5211

DATA SHEET

Code SRN0060401S SRN0090401S SRN0120401S SRN0180401S SRN0240401S SRN0360401S
B4 seals KGGI0018 KGGI0019 KGGI0020 KGGI0021 KGGI0022 KGGI0023

Size SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
1SO FO5/F07 FO7/F10 FO7/F10 FO7/F10 F10/F12 F10/F12
A 360,8 393,7 4096 474 520,5 613
A1 (2,8Bar) 309,1 341,8 361,6 406,6 454,1 523
B 17 22 22 22 27 27
Cx depth M6x9 M8x12 M8x12 M8x12 M10x15 M10x15
D x depth M8x12 M10x15 M10x15 M10x15 M12x18 M12x18
E 50 70 70 70 102 102
F 70 102 102 102 125 125
G 13 16 17 19 19 19,5
H 44,8 54,5 58,1 60 57,4 61,5
| 12 15 15 19 19 22
L 107 137,5 141,1 148 164,9 178
M 46,8 56,5 60,1 62 72,9 78,5
N 60,2 81 81 86 92 99,5
o) 19,3 24,8 24,8 24,3 29,5 29,5
P 40,2 51 51 56 62 69,5
Q 46,8 56,5 60,1 62 72,9 78,5
R 18 20,2 22,5 25,5 29 31,8
S 20 30 30 30 30 30
T 87 107,5 11,1 118 134,9 148
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/4" 1/4"
Ch 17 22 22 22 27 27
FE (Kg) 3,35 59 6,8 89 11,8 16,5
Air (dm3/cycle) 0,33 0,55 0,8 1 1,5 2

H = CENTRO DEI FISSAGGI BASETTA H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-19 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-
2
=
o}
wl
=z
a
5
2
D
E
<C

PNEUMATIC ACTUATORS




. 42 + PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.pA.

S S  —— II—
e
-

SRN480—~SRN960 (Nm)
Spring return pneumatic actuator sizes from SRN480 (Nm) to SRN960 (Nm)

Dispositivo di limitazione della corsa
Stroke limiter device

—__(max10°)

Dispositivo di limitazione della corsa
Stroke limiter device
(max10°)

Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

24 Anello di centraggio a richiesta
Centering ring on request

80

ENISO 5211

| h11

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

Code SRN0480401S SRN0480402S SRN0720402S SRN0720401S SRN0960402S SRN0960401S
ZEJH seals KGGl0024 KGGI0025 KGGl0026

Size SRN480 SRN720 SRN960
1SO F10/F12 F14 F12 F14 F12/F16 F14
A 648,2 648,2 798 798 828 828
A1 (2,8Bar) 563,8 563,8 683 683 7144 7144
B 36 36 36 36 46 46
Cx depth M10x15 M16x24 M12x18 M16x24 M12x18 M16x24
D x depth M12x18 - - - M20x30 -
E 102 140 125 140 125 140
F 125 - - - 165 -
G 19,5 19,5 19,5 19,5 18,5 18,5
H 78 78 86,5 86,5 99,2 99,2
I 24 24 27 27 32 32
L 198 198 216 216 237,7 2377
M 93,5 93,5 101,5 101,5 114,7 14,7
N 104,5 104,5 114,5 114,5 123 123
o) 38,5 38,5 38,5 38,5 48,5 48,5
p 74,5 74,5 84,5 84,5 93 93
Q 93,5 93,5 101,5 101,5 114,7 14,7
R 36,5 36,5 41 41 46 46
S 30 30 30 30 30 30
T 168 168 186 186 207,7 207,7
W (Gas) 1/4" 1/4" 1/4" 1/4" 1/4" 1/4"
Ch 27 27 36 36 36 36
=& (Kg) 22,7 22,7 33 33 42 42
Air (dm3/cycle) 2,8 2,8 4,2 4,2 59 59

H = CENTRO DEI FISSAGGI BASETTA H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-20 -



4.2 « PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMALSPA. o

. _______________________________________________________________________________________________________________________ M
—
-

SR1440 (Nm)

834
686
46 188 498
046 H11
_ I _
©)

Regolatore di corsa ] ! 4 - - — Regolatore di corsa
Stroke adjustment ) Stroke adjustment
(+/- 5° max) | ~_ (+/-5°max)

)
e
165 F16
40
3/8"GAS 28
+ o —
@ Interfaccia EN15714-3 (NAMUR 2)
Py EN15714-3 (NAMUR 2) interface
= 0
n°4 M6x10 Q
36 h1l
<
= _ &
I==00) 5

165

359

[TolTo]
mT ol o
o <
ENISO 5211
M6x12 130 n°4 M5x8

o ] — = R
oo%': . 5

(0]
J¢

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

DATA SHEET

0
£
=
)
wl
=z
a
5
<
o
E
<C

PNEUMATIC ACTUATORS

Code SR1440E16D8A
BE Weight Kg 74,0
FESE Airvolume dm3/cycle 11,0
B Spare seals KGSI1035

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-21 -



. 42 + PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.pA.

. __________________________________________________________________________________________________________
4
N

SR1920 (Nm)

1001
857

046 H11

Dispositivo di limitazione della corsa
Stroke limiter device

Dispositivo di limitazione della corsa
— (max 10°)

Stroke limiter device

(max 10°) }
o
AD />

A0 @ 165 F16
20
3/8" GAS
o 6 L ;
<t Interfaccia EN15714-3 (NAMUR 2)
=2 EN15714-3 (NAMUR 2) interface
Lo
) 240
n°4 M6x10 | &
0 4 D46
00y <
T o [ ]
. = - ™
O.? 8 8
- AT
<
(== - - - - - = e
0l m
[ee]
7 M S
i =2 Q -
ol vl ®
o~ ol o n°4 M20
M <
ENISO 5211
M6x12 130 n°4 M5x8
]
o 1
o™
+ A
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
1.2 Accessories interface EN 15714-3 (VDI/VDE 3845)

Disponibile versione con doppia regolazione della corsa (+/- 5°max) con codice SR1920E16D8A.
Available version with double stroke adjustment (+/- 5°max) with code SR1920E16D8A.

DATA SHEET
Code SR1920E1608A
EE Weight Kg 67,0
F5E Arvolume dm3/cycle 12,0
B Spare seals KGDI0030

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-22 -



4.2 « PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMALSPA. i

. _______________________________________________________________________________________________________________________ M
4
N

SR2880 (Nm)

1201

996
046 H11

& Regolatore di corsa

Stroke adjustment
(+/- 5° max)

Regolatore di corsa
Stroke adjustment
(+/- 5° max)

| AD /

40 @165 F16
0
3/8" GAS 20
4 o —
o) Interfaccia EN15714-3 (NAMUR 2)
L 69 [ < EN15714-3 (NAMUR 2) interface
i
I 2 361
n°4 M6x10 N 155 206
36 hll Regolatore di corsa
4 Stroke adjustment @ 72
(+/- 5° max) @ 52
ool ™ - -
= - = . (!
1o [of
1L : o [ g g
t e -
/ o)
[To]
- 9 o) 4 8
<
©
-
(@
[qp}
™ o Lo °
ol o n°4 M20
M| < -
ENISO 5211
M6x12 130 n°4 M5x8
o
™
— [ i |
5 0 o
S £S
I | I | 29
s m! - Imal Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845) a 5
Accessories interface EN 15714-3 (VDI/VDE 3845) g E
- lq—: =
> 2
=
&
DATA SHEET
Code SR2880E16D8A
EE Weight Kg 116,8
FESE Airvolume dm3/cycle 21,0
BEEMH Spare seals KGSI2035

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-23-



. 42 + PNEUMATIC ACTUATORS > ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.pA.

SR4000 (Nm)

1370
1184
055 H11
q D
1 N
q 0\ \ D
9/
- T - I Regolatore di corsa
" - Stroke adjustment
Regolatore di corsa \ ‘ w
Stroke adjustment \0\ ) \
(+/- 5° max) \l X
[¢ | D
2
225"
40
20 @ 254 F25
3/8" GAS = 072
4 o — o @ 52
D © I < )
o o Interfaccia EN15714-3 (NAMUR 2)
EN15714-3 (NAMUR 2) interface o
T © ™
i d
n°4 M6x10 N
36 hl1
X<
T —3 6 ? ™
AN ON— <
-E=H HE=Ep- o
i D
——
E y | GILTE =)
eof 23 n°g M16
ENISO 5211
Regolatore di corsa
Stroke adjustment
(+/- 5° max)
M6x12 130 n°4 M5x8
@ )
o
™
ar—H - — p— —— - D
NO—] [+ ) —v
5.9
d D
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code SR4000E25D8A
EE Weight Kg 183,0
F5E Airvolume dm3/cycle 29,1
B Spare seals KGSI1040

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

- 24 -



. 43 + PNEUMATIC ACTUATORS > DOUBLE ACTING "DA" WITH INTEGRATED HANDWHEEL

e
-

n DAII

OMAL S.pA.

> $3% : 60 Nm ~ 3840 Nm

> FAEE= - FFAEN ISO 52114574 , FO5 - FO7 - F10 - F12 -
F14 -F16

> FEEEAE 1 92° (-1° +91°)

> iR : RIESE | FEDARHSFERERIS.6barSiH FHIY
Jusiiabszl

> BHIEBYETE © 58 2014/34/EU ATEX 1R

>iBE: 0°C ~+80° C; -20° C ~ +80° C
PRI - .20° C +150° C ( =88 )
-50° C +60° ({RiREY)
> SSEES : 5.6bar ( HA8.4bar)
> RSEE  EREEESS  EEEE  ERSEEES, Uy
MR T HEE BT NBRAYHIAE.

WNEREKIE| JEiE90° MRTLATERATRS EECF4L.
BRI TR CEBRIEERC,

ATURRERTE , ATRENITTEN | FEERFRRFR,
DIRESEHITRMEESSER LR T,
FRIFPTRNOEENMENEIER , BEE/FTEN12570 , ERIETH
HESHTaHEES.

TECHNICAL FEATURES

Torque from 60 Nm to 3840 Nm.

Mounting flange according to EN 1SO 5211

FO5-F07-F10-F12-F14-F1e6.

In accordance with EN 15714-3

Rotation angle: 92° (-1°, +91°)

Torque: directly proportional to the air supply (see table).

The code numbers after the DA letters, always correspond to the breakaway
torque in Nm by 5,6 bar air supply.

On request: ATEX version in conformity with directive 2014/34/EU.

WORKING CONDITIONS

Temperature: from 0°C to +80°C; from 0°C to +80°Cwith dry air only. (Spe-
cial versions: high temperature:-20°C +150°C; low temperature: -50°C +60°)
Air supply: 5,6 bar; maximum 8,4 bar.

Operating media: compressed filtered air, not necessarily lubricated.

In case of lubricated air, either non detergent oil or NBR compatible oil, must
be used.

Once required the quarter turn pneumatic actuator can be equipped with a manual
handwheel.

The device can be integrated either in Double Acting and Spring Return versions.

For the proper functioning of the system and for the mechanical integrity of the device is
essential to ensure that the pneumatic actuator is disconnected from the power lines of
compressed air before performing any operation using the manual handwheel.

The manual handwheel acts on the transmission of the primary mechanical transmission
of the pneumatic actuator and with torques applied to the handwheel according to EN
12570 it releases output torque of equal value of the nominal torque of the actuator.

-25-



y N

43 « PNEUMATIC ACTUATORS > DOUBLE ACTING "DA" WITH INTEGRATED HANDWHEEL A

OMAL S.pA.

4
-

’ DANY 60 +- DANV 480

N

D C
T
P Q
Interfaccia EN 15714-3 (NAMUR)
EN 15714-3 (NAMUR) interface
R N T
q 43
S %)
I =
M5 7 o = © \i?
> e o x [ | m
i 1 - g', . - - T T —
TAVE i e— 1) g
T ‘ J
\ | oA\ :
24
~ EN SO 5211
Anello di centraggio a richiesta
Centering ring on request
e @V
80
|
|
[}
LA } Sy | 1
— = % I —
$ = e
Interfaccia per accessori secondo EN 15714-3(VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code DANV0060412S = DANV0106411S | DANV0120411S | DANVO0180411S DANV0240411S @ DANV0360411S @ DANV0480411S
HIAE Size DANV 60 DANV 106 DANV 120 DANV 180 DANV 240 DANV 360 DANV 480
ISO FO5/F07 FO5/F07 FO5/F07 FO7/F10 FO7/F10 FO7/F10 F10/F12
A 362,3 397,8 410,5 483 510,5 567,6 6344
B 14 17 17 22 22 22 27
Cx depth M6x9 M6x9 M6x9 M8x12 M8x12 M8x12 M10x15
D x depth M8x12 M8x12 M8x12 M10x15 M10x15 M10x15 M12x18
E 50 50 50 70 70 70 102
F 70 70 70 102 102 102 125
G 13 13 13 16 17 19 19
H 33,7 40,8 42,8 52,5 56,1 58 57,4
J 18 18 18 18 18 18 16
K 14 14 14 14 14 14 16
| 10 12 12 15 15 19 19
L 90,4 103,3 107 137,5 1411 148 164,9
M 37.7 44,8 46,8 56,5 60,1 62 72,9
N 52,7 58,5 60,2 81 81 86 92 ==
(6] 16,5 19,3 19,3 24,8 24,8 24,3 29,5 é 3
P 32,7 38,5 40,2 51 51 56 62 =<
Q 37,7 44,8 46,8 56,5 60,1 62 72,9 Z5
R 14,5 16,2 18 20,2 22,5 25,5 29 g 5
S 20 20 20 30 30 30 30 g E
T 70,4 83,3 87 107,5 11,1 118 134,9 = %
U 99 1185 122,1 144,9 156,8 169,6 193,8 =) 3
% 180 180 180 220 220 300 300 < &
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/4"
X 4 4 4 4 4 4 -
Y 137,6 154,8 163,9 183,5 199,1 220,8 236,4
z 263,3 2793 288,4 338,1 353,7 398 440,6
Ch 13 17 17 22 22 22 27
N° giri* N°of turns* 11 13 14 16 18 15 16
E|E Weight (Kq) 2,8 4 45 6 8 10,2 13,2
S E(dm3/cycle) 03 0,7 0,59 12 1,65 23 32

* N° giri teorico per chiu./apert. partendo dalla posizione naturale.
Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

*Theorical n° of turns to close/open starting from neutral position.

-26 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



. 43 + PNEUMATIC ACTUATORS > DOUBLE ACTING "DA" WITH INTEGRATED HANDWHEEL

OMAL S.p.A.
4
-
A
-~
DANV 720 +- DANV 1920
A
u Y
~
T
D C
T
P Q
Interfaccia EN 15714-3 (NAMUR)
EN 15714-3 (NAMUR) interface
PR M
o (%)
I M5 A =
< AP 1 =
J — 5 @ - - - r —
QW 6 b i I
T | =
! | |
24|
EN S0 5211
Anello di centraggio a richiesta
Centering ring on request
80
|
| N
o
& s — | o e
&) = Ys
$ < e
| I
Interfaccia per accessori secondo EN 15714-3(VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code DANV0720411S = DANV0960411S | DANV0960412S | DANV1440411S DANV1440412S  DANV1920411S @ DANV1920412S
g Size DANV 720 DANV 960 DANV 1440 DANV 1920
I1SO F10/F12 F10/F12 F14 F14 F12 F14 F12/F16
A 720,1 758 758 919,9 919,9 954,1 954,1
B 27 36 36 36 36 46 46
Cx depth M10x15 M10x15 M16x24 M16x24 M12x18 M16x24 M12x18
D x depth M12x18 M12x18 - - - - M20x30
E 102 102 140 140 125 140 125
F 125 125 - - - - 165
G 19,5 19,5 19,5 19,5 19,5 18,5 18,5
H 61,5 78 78 86,5 86,5 99,2 99,2
J 16 16 16 16 16 16 16
K 16 16 16 16 16 16 16
| 22 24 24 27 27 32 32
L 178 198 198 216 216 237,7 237,7
M 78,5 93,5 93,5 101,5 101,5 114,7 114,7
N 99,5 104,5 104,5 114,5 114,5 123 123
(6] 29,5 385 38,5 38,5 38,5 48,5 48,5
P 69,5 74,5 74,5 84,5 84,5 93 93
Q 78,5 93,5 93,5 101,5 101,5 114,7 114,7
R 31,8 36,5 36,5 41 41 46 46
S 30 30 30 30 30 30 30
T 148 168 168 186 186 207,7 207,7
U 216,6 239,7 239,7 283,5 283,5 3004 300,4
\Y% 350 350 350 400 400 400 400
W (Gas) 1/4" 1/4" 1/4" 1/4" 1/4" 1/4" 1/4"
X - - - - - - -
Y 282,3 297,1 2971 365,6 365,6 3829 382,9
VA 503,5 518,3 518,3 636,4 636,4 653,7 653,7
Ch 27 27 27 36 36 36 36
N° giri* N°f turns* 19 20 25 26
BE&= Weight (Kg) 17,8 23,8 33,6 43
FES = (dm3/cycle) 4,6 6,05 9,7 12,9

* N° giri teorico per chiu./apert. partendo dalla posizione naturale.

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici" a pag. 478.

*Theorical n° of turns to close/open starting from neutral position.

-27 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



43 « PNEUMATIC ACTUATORS > DOUBLE ACTING "DA" WITH INTEGRATED HANDWHEEL OMALSPA. i

.
——
1243 DANYV 3840
352.8 890.2
5375
&
<>§°<’\ M20x30

o

@165
Interfaccia EN15714-3 (Namur 2) U
M6x10 EN15714-3 (Namur 2)interface
7N
[Tp}
> @Hle
3/8" GAS 2
== @268
40
239.9
M
0 %46 ] J
= ‘ 4 < b=

69 ~
D) = ‘
1] o o m .
N N Y 4 T8 ]88 1= @) )13
0 mm wn k_/ &
) o 2
@ |

ENISO 5211/

U
@575
M
—
= 130
N
™
&
=il S M5x6
- - —— = 10 1
0
1} e o )
u ! o
M6x12 =R
=S
oF
50
£<
=G
Interfaccia per accessori secondo EN15714-3 VVDI/VDE 3845 =S
Accessories interface EN15714-3 VDI/VDE 3845 S5
=
e
DATA SHEET
Code DANV3840E1600A
g Size DANV 3840
I1SO F16
N° giri* N°f turns* 30
EHE Weight (Kg) 75
FES=(dm3/cycle) 24,3

* N° giri teorico per chiu./apert. partendo dalla posizione naturale.  *Theorical n° of turns to close/open starting from neutral position.

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-28-



y N

. 44 + PNEUMATIC ACTUATORS > SPRING RETURN "SR" WITH INTEGRATED HANDWHEEL OMAL SpA.
.

-
n n [tatatel — :ﬁ]ml— [=1-]

SR" RFHEFR—IL BN NN TS
PNEUMATIC ACTUATOR

SPRING RETURN "SR" witH INTEGRATED HANDWHEEL

TECHNICAL FEATURES
> 3% : 30 Nm ~ 1920 Nm Torque from 30 Nm to 1920 Nm.
> ZEEEE - FASEN ISO 52114R Mounting flange according to EN ISO 5211
FO5 - FO7 - F10 - F12 - F14 - F16 , £F&EN 15714-3t5A f 05-F 07,‘F ’0"; ;725- NF ;;7;”4’53
. o _1o° o n compliance wi -
z E’;‘EE’?%E ;:.92 (\1 . +91— ) N " Rotation angle: 92° (-1°, +91°)
> 1055 : EFEABEURATHEME. MR I A% , FESREAIE

o " oo _ Torque: the return torque depends on spring action only notwithstanding the
N ES.QbarH@%,E"F ! JE%FC;EEEM‘E%E air supply. The spring is provided in four different sizes (see table).
PoIRELETI% « /552014/34/EU ATEX e The code numbers after the letters SR, always correspond to the breakaway
torque in Nm by 5,6 bar air supply.

The actuator automatic closing takes place in clockwise direction by means
of its springs.

On request: ATEX version in conformity with directive 2014/34/EU.

\%

WORKING CONDITION
> BE : 0°C ~ +80°C; -20°C ~ +80°C Temperature: from 0°C to +80°C; from -20°C to +80°C with dry air only. (Spe-
RIS 20°C +150°C ( EREA ) cigl versions: high temp.erature:-20°C +150°C; low temperature: -50°C +60°)
_£n° ° N Air supply: 5,6 bar; maximum 8,4 bar.
50°C +60° (RiREY ) ; . . . . )
> SYEES : 5.6bar ( 848 4bar) Operating media: compressed filtered air, not necessarily lubricated.
Nsthevna N i ey N N N In case of lubricated air, either non detergent oil or NBR compatible oil, must
> FHSEE : FETESS , TRIDE  MEREITEES, WA ey I
BTornRrimaERTNBRAVHAS.
NEERE 5 90° M ATEh T Ee FERTEE, g:;(ej vc;zz;:red the quarter turn pneumatic actuator can be equipped with a manual

BRI TR CEBRTEERC,
ATURFESTIE , hATREOITTEN | TEERFRIEF, &

The device can be integrated either in Double Acting and Spring Return versions.
For the proper functioning of the system and for the mechanical integrity of the device is

Zﬁ{%ift%@m¢?%§b\}£ﬁ§ﬁ%ﬂﬁtﬁ'ﬁ N essential to ensure that the pneumatic actuator is disconnected from the power lines of
FRXIHITERNEENURENEIER , EHRERFSEN12570 , BRYMHA compressed air before performing any operation using the manual handwheel.
ESHhTEHAEES. The manual handwheel acts on the transmission of the primary mechanical transmission

of the pneumatic actuator and with torques applied to the handwheel according to EN
12570 it releases output torque of equal value of the nominal torque of the actuator.

-29-



y N

4.4 « PNEUMATIC ACTUATORS > SPRING RETURN "SR" WITH INTEGRATED HANDWHEEL OMAL S.p.A. —
.
-
A
SRNV 30 + SRNV 240
4

I
D C
T
N
P Q
Interfaccia EN 15714-3 (NAMUR)
EN 15714-3 (NAMUR) interface 7R
4 M /ﬁﬁ\
i
of | p
Ms_ T 7 = (o2 |
> ° @ ~ ‘[—] )
E - - - — - + -
\} W li.> N -
T | =
| o exnZe)
24
EN SO 5211
Anello di centraggio a richiesta
Centering ring on request
80
| h11 ov
SO M=
Interfaccia per accessori secondo EN 15714-3(VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code SRNV0030402S SRNV0053401S SRNV0060401S SRNV0090401S SRNV0120401S SRNV0180401S SRNV0240401S
FAE Size SRNV 30 SRNV 53 SRNV 60 SRNV 90 SRNV 120 SRNV 180 SRNV 240
ISO FO5/F07 FO5/F07 FO5/F07 FO7/F10 FO7/F10 FO7/F10 F10/F12
A 392,7 431,4 457,7 5349 558,5 635 700,8
B 14 17 17 22 22 22 27
Cx depth M6x9 M6x9 M6x9 M8x12 M8x12 M8x12 M10x15
D x depth M8x12 M8x12 M8x12 M10x15 M10x15 M10x15 M12x18
E 50 50 50 70 70 70 102
F 70 70 70 102 102 102 125
G 13 13 13 16 17 19 19
H 33,7 40,8 42,8 52,5 56,1 58 57,4
J 18 18 18 18 18 18 16
K 14 14 14 14 14 14 16
| 10 12 12 15 15 19 19
L 90,4 103,3 107 137,5 1411 148 164,9
M 37.7 44,8 46,8 56,5 60,1 62 72,9
N 52,7 58,5 60,2 81 81 86 92 =5
(6] 16,5 19,3 19,3 24,8 24,8 24,3 29,5 .% 3
P 32,7 38,5 40,2 51 51 56 62 =5
Q 37,7 44,8 46,8 56,5 60,1 62 72,9 oE
R 14,5 16,2 18 20,2 22,5 25,5 29 g 5
S 20 20 20 30 30 30 30 g E
T 70,4 83,3 87 107,5 11,1 118 134,9 =
U 1294 152,1 169,3 196,8 204,8 237 260,2 = é
v 180 180 180 220 220 300 300 < &
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/4"
X 4 4 4 4 4 4 -
Y 137,6 154,8 163,9 183,5 199,1 220,8 236,4
VA 263,3 279,3 288,4 338,1 353,7 398 440,6
Ch 13 17 17 22 22 22 27
N° giri* N°of turns* 11 13 14 16 18 15 16
EE Weight (Kg) 3,2 4,5 53 6,8 9 11,7 15,2
FESE(dm3/cycle) 0,17 0,3 0,33 0,55 0,8 1 1,5

* N° giri teorico per chiu./apert. partendo dalla posizione naturale.  *Theorical n° of turns to close/open starting from neutral position.
Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-30 -



y N

. 44 + PNEUMATIC ACTUATORS > SPRING RETURN "SR" WITH INTEGRATED HANDWHEEL OMAL S.pA.
4
-
A o
SRNV 360 = SRNV 960
z
l
D C
T
N\
P Q
Interfaccia EN 15714-3 (NAMUR)
EN 15714-3 (NAMUR) interface 7R
4 /”’“\
o
o w
Ms T 7 S = o2 |
>
vl L o = [ | - Nl .
N - I
@W 4
ju | =
‘ oi ® S
2
N\ ENISO 5211
Anello di centraggio a richiesta
Centering ring on request
80 M
1 h11 v
SRR | E —
Interfaccia per accessori secondo EN 15714-3(VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code SRNV0360401S SRNV0480401S SRNV0480402S SRNV0720401S SRNV0720402S SRNV0960401S SRNV0960402S
g Size SRNV 360 SRNV 480 SRNV 720 SRNV 960
I1SO F10/F12 F10/F12 F14 F14 F12 F14 F12/F16
A 810,1 8424 842,4 1035,4 1035,4 1067,7 1067,7
B 27 36 36 36 36 46 46
Cx depth M10x15 M10x15 M16x24 M16x24 M12x18 M16x24 M12x18
D x depth M12x18 M12x18 - - - - M20x30
E 102 102 140 140 125 140 125
F 125 125 - - - - 165
G 19,5 19,5 19,5 19,5 19,5 18,5 18,5
H 61,5 78 78 86,5 86,5 99,2 99,2
J 16 16 16 16 16 16 16
K 16 16 16 16 16 16 16
| 22 24 24 27 27 32 32
L 178 198 198 216 216 237,7 237,7
M 78,5 93,5 93,5 101,5 101,5 114,7 114,7
N 99,5 104,5 104,5 114,5 114,5 123 123
(6] 29,5 38,5 38,5 38,5 38,5 48,5 48,5
P 69,5 74,5 74,5 84,5 84,5 93 93
Q 78,5 93,5 93,5 101,5 101,5 114,7 114,7
R 31,8 36,5 36,5 41 41 46 46
S 30 30 30 30 30 30 30
T 148 168 168 186 186 207,7 207,7
U 306,6 3241 3241 399 399 414 414
\' 350 350 350 400 400 400 400
W (Gas) 1/4" 1/4" 1/4" 1/4" 1/4" 1/4" 1/4"
X - - - - - - -
Y 282,3 297,1 2971 365,6 365,6 382,9 3829
VA 503,5 518,3 518,3 636,4 636,4 653,7 653,7
Ch 27 27 27 36 36 36 36
N° giri* N°of turns* 19 20 25 26
HE Weight (Kg) 19,5 28,1 38,8 50,6
FES=(dm3/cycle) 2 2,8 4,2 5,9

* N° giri teorico per chiu./apert. partendo dalla posizione naturale.

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici" a pag. 478.

*Theorical n° of turns to close/open starting from neutral position.

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-31-



4.4 « PNEUMATIC ACTUATORS > SPRING RETURN "SR" WITH INTEGRATED HANDWHEEL OMAL S.p.A. Z__

..
™
N
1399.7
SRNV 1920
509.5 890.2
537.5
&
s
> M20x30
O
-
e — = = Di |
I ]
® 165
Interfaccia EN15714-3 (Namur 2)
M6x10 EN15714-3 Namur 2 interface
X
o 06— J |
0 Ohile
3/8" GAS ¢ = ] @268
- 239.9
40
@ 46
M L T T~
) 4 T—TIT
e 3
il I .
e'e ~
- [{=]
-
o)
O T} | ks
e e 51 g o H)E 3
R\ ~
3 = >
; i
ENISO 5211/
@575
130
32h11
!
N I » Ll M5x6 L -
= QO —F———1 H-—O—t
I - |
1e.ef g g
M6x12 =5
2R
205
U o <§(
Interfaccia per accessori secondo (EN15714-3 VDI/VDE 3845) 5 2
Accessories intercafe EN15714-3 (VDI/VDE 3845) E =
DATA SHEET
Code SRNV1920E1608A
I Size SRNV 1920
ISO F16
N° giri* N°of turns* 30
B Weight (Kg) 91
FESE(dm3/cycle) 12,5

* N° giri teorico per chiu./apert. partendo dalla posizione naturale.  *Theorical n° of turns to close/open starting from neutral position.
Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-32-



y N

mn. 4.5+ PNEUMATIC ACTUATORS > WORKING PLANE PNEUMATIC ACTUATOR WITH INTEGRATED HANDWHEEL OMAL S.p.A.

4
-

WHFIERISIITERRN TIFERE

Working plane pneumatic actuator with integrated handwheel

FoR(FRl , TRERPUTRRRERE

Prior to operate manually, ensure that the actuator is free from pressure.

TO OPEN THE VALVE TO CLOSE THE VALVE

LHUTRRINTFEIR(ERS | RS TRRRE iEfL

When the actuator has been manually operated, return to the neutral position prior to start normal operation.

M
ETRLARRE AN, CHLHSEINELE

The indicator has to be totally visible and its back face
g alig-ned with the edge of the tube.

=

,0 0

Q o ©

o o 4

/
NEUTRAL POSITION

B2 ERIRENY |, HEEE BN , BUTRRRI T ASEIRE.
Whit the screw in neutral position the piston can move freely and the actuator can be driven pnaumatically.

) ™

“ \

o/ /

MANUAL OPERATION BEFMm MANUAL OPERATION
DANV: % F i pstshiERT, 1548 DANV: When the handwheel turned counter DANV: HFEIRBTEENIERT, 122270 DANV: When the handwheel is turned
MEEERE, XEESTH. clockwise, pushes the screw and piston SERESOINEED, LRI, ) clockwise, the screw and piston are drawn
SR'NV' IR 1‘@‘1?]5 1582 2470 inwards. The valve opens. SRNV: LFIOWATEHAT, 1BL4F0EZE  outwards. The valve closes.
. e i’ﬂ'} iy MR SRNV: When the handwheel turned clockwise SEyNEE], HATEIFIF, SRNV: When the handwheel is turned
EEEAHE, XK. pushes the screw and piston inwards. The val- counter clockwise, the screw and the piston

ve closes. are drawn outwards.

The valve opens.



y N

e 46« PNEUMATIC ACTUATORS > DOUBLE ACTING "DA"TYPE INOX PRECISION CASTING CF8M

OMAL S.pA.

ABEMCFEMEGIENE] “"DA” SENiT=R

PNEUMATIC ACTUATOR

Double ACTING "DA"TYPE INOX PRECISION CASTING CF8M

3% : 15 Nm ~ 480 Nm

ZAEE - AISO 5211454, FO3 - FOS - FO7 - F10 , fF&EN 15714-3,
FEEAE : 92° (-1° , +91° )

HiE : RIESERT , FEDAREFFRRES. 6barf SR FHFEHAEE.
DA60R LA B ST E#EENAMURERHRE,
DA15~DA30ZENAMURERER.,

PEIRELEE , RFS 2014/34/EU ATEX tRE,

V V.V VYV VYV

TECHNICAL FEATURES

Torque from 15 Nm to 480 Nm.

Mounting flange according to ISO 5211; F03 - FO5 - FO7 - F10

In compliance with EN 15714-3.

Rotation angle: 92° (-1, +91°)

Torque: directly proportional to the air supply (see table - general catalogue pneumatic
actuator DA).

The code numbers after the DA letters, always correspond to the breakaway torque in
Nm by 5,6 bar air supply.

Sizes from DA 60 direct connection with NAMUR solenoid valve.

Sizes DA15 - DA30 can be provided with NAMUR plate on request.

On request: ATEX version in conformity with directive 2014/34/EU.

> BE :-20° C ~ +80° C

> SJEES] : 5.6bar ( F2A8.4bar)

> RUSEE  FRTEES  BREE , REBEESLEEME , NwREER
ESESF RIS S E & AT NBRAYHAS.

WORKING CONDITION

Temperature: from -20°C to +80°C.

Air supply: 5,6 bar; maximum 8,4 bar.

Operating media: compressed filtered air, not necessarily lubricated. In case of lubricated
air, either non detergent oil or NBR compatible oil, must be used.

DATA SHEET

Code DA015516S DA030516S DA060516S DA120516S DA240516S DA480516S
B34 Spare seals KGX10112 KGX10114 KGXI0116 KGXI0118 KGX10120 KGXI0122
Size DA 15 F03 DA 30 FO3 DA 60 FO3-FO5 DA 120 F05-FO7 DA 240 F05-F07 DA 480 F07-F10

L mm 120 134,6 158,4 192,9 246,8 2984

A mm. 724 80,4 92,5 116,5 136,4 160

B mm. 13,4 11,6 - - - -

C mm. 12 13 - - - -

D mm. 28,2 32,7 37,7 46,2 56,2 68

OE mm. 9 9 11 14 17 22

F mm. 2 2 2 3 3 3
Ch.G mm. 8 9 10 12 15 19

H mm. 10 10 13 13 17 19

N mm. 23 23 20 30 30 30

X mm. 59 68 80,3 94,4 17 139,7

J mm. 10,2 10,2 12,2 16,3 19,3 24,3
oK mm. 25 25 25 35 35 55

Q mm. 50 50 50 80 80 80

P mm. 25 25 25 30 30 30

ouU mm. - - 50 70 70 102
v mm. 36 36 36 50 50 70

Y x prof. depth mm. M5x9 M5x9 M5x9 Méx11 Méx11 M8x13

W x prof. depth mm. - - M6x11 M8x15 M8x13 M10x22

58 dm¥/cycle 0,079 0,148 0,28 0,59 1,18 2,38
=& weight Kg. 08 1,2 1,8 33 56 9,5

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

34

-34 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



y N

46 « PNEUMATIC ACTUATORS > DOUBLE ACTING “DA"TYPE INOX PRECISION CASTING CF8M OMAL S.p.A. —
e
. L
DA 15 + DA 30

AN T
N
=/,

(@

L1 _U, Y | w— S

ENISO 5211 oV

Interfaccia EN 15714-3 (Namur) a richiesta
EN 15714-3 (Namur) interface on request
18

M5

EHQRE R

& 4
2 -ui

Optional Code KBNI4015

G

40

]
< &
¥

*Anello di centraggio
Centering ring

Interfaccia EN 15714-3 (Namur) a richiesta

EN 15714-3 (Namur) interface on request (T M5xé 1
50 == Ny il =—
=
ol O
| ¢
o o
& -
] _ « P
s

Optional Code KBVI4015

DA 60+DA 480 g

i Jus

HY &= EHH

- + -
oY \ 2v
\,‘»u
. Sy dw T
ENISO 5211
<
1/8" GAS N PN
N*f ©-6 DK 18" &
il ) ‘ @ < 1] | *Anello di centraggio
DY i H : B Centering ring
— 5 0-Q .f m—
o
==t
- M5B\ =4
. - 53
o4 Interfaccia EN 15714-3 (Namur) a richiesta o3
EN 15714-3 (Namur) interface on request E<
z e
=<
==
> 2
ES
— &
c
o
- < Q S
— & —
M5x8 Interfaccia per accessori
1 fo EN 15714-3 (VDI/VDE 3845)
o : asE ‘ Accessories interface
- EN 15714-3 (VDI/VDE 3845,
R 1PN =S = ( )
I i




y N

. 47 - PNEUMATIC ACTUATORS > SPRING RETURN “SR"TYPE INOX PRECISION CASTING CF8M

OMAL S.pA.

ABMCFEMEGISEE] “SR” KEIN{TAR

PNEUMATIC ACTUATOR

SPRING RETURN"SR"TYPE INOX PRECISION CASTING CF8M

> % : 15 Nm ~ 240 Nm

> AL 54 1SO 521145 FO3 - FO5 - FO7 - F10 ;
FFEEN 15714-3 iR

> BERERREE 1 92° (-1°, +91° )

> 1056 | IRERAERGRTHENEE | SRR %, FESRENETF
SIRIAYRTES bbarSE FHFBHAE,. HEERT , PTEEE LR
FmExE,

> SR30KLALATER:SNAMURRH EIER:

SR15ETEHENAMURIEEHR

> BHISESENE , £552014/34/EU ATEX i

\Y

TECHNICAL FEATURES

Torque from 15 Nm to 240 Nm.

Mounting flange according to ISO 5211; FO3 - FO5 - FO7 - F10.

In compliance with EN 15714-3.

Rotation angle: 92° (-1, +91°)

Torque: the return torque depends on spring action only notwithstanding the air supply.
The spring is provided in four different sizes (see table - general catalogue pneumatic
actuator SR). The code numbers after the letters SR, always correspond to the breaka-
way torque in Nm by 5,6 bar air supply. The actuator automatic closing takes place in
clockwise direction by means of its springs.

Sizes from SR 30 direct connection with NAMUR solenoid valve.

Size SR15 can be provided with NAMUR plate on request

On request: ATEX version in conformity with directive 2014/34/EU.

> J@E :-20° C ~ +80° C

SIRES : 5.6bar ( §A8.4bar)

> SEE : FELEES  TREE. IRELTEBINTS  NwmEER
TSR MAEEE T NBRAYIHAS.

2

WORKING CONDITION

Temperature: from -20°C to +80°C.

Air supply: 5,6 bar; maximum 8,4 bar.

Operating media: compressed filtered air, not necessarily lubricated. In case of lubrica-
ted air, either non detergent oil or NBR compatible oil, must be used.

DATA SHEET

Code SR015516S SR030516S SR060516S SR120516S SR240516S
IS Spare seals KGXI0114 KGXI0116 KGXI0118 KGX10120 KGX10122
Size SR 15 FO3 SR 30 F03-F05 SR 60 F05-F07 SR 120 F05-F07 SR 240 F07-F10
L mm 134,6 158,4 192,9 246,8 298,4
L1 mm. 194,2 217,9 287,5 341,2 421
L2 mm. 224 246,2 316,5 376,2 463,9
A mm. 80,4 92,5 116,5 136,4 160
D mm. 32,7 37,7 46,2 56,2 68
OE mm. 9 11 14 17 22
F mm. 2 2 3 3 3
Ch.G mm. 9 10 12 15 19
H mm. 10 13 13 17 19
N mm. 23 20 30 30 30
X mm. 68 80,3 94,4 117 139,7
J mm. 10,2 12,2 16,3 19,3 24,3
oK mm. 25 25 35 35 55
Q mm. 50 50 80 80 80
P mm. 25 25 30 30 30
ou mm. - 50 70 70 102
oV mm. 36 36 50 50 70
Y x prof. depth mm. M5x9 M5x9 M6x11 M6x11 M8x13
W x prof. depth mm. - M6x11 M8x15 M8x13 M10x22
FESE dm® /cycle 0,086 0,16 0,33 0,7 1,38
EE weight Kg. 16 2,4 45 7,6 12,9

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-36 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



y N

47 « PNEUMATIC ACTUATORS > SPRING RETURN“SR'TYPE INOX PRECISION CASTING CF8M OMALSPA. o
4
-
SR 15 .
1 T L1
L ‘
OFEH11
N
ENISO 5211 OV FO3
4 X
~
T,
Inferfaccia EN 15714-3 (Namur) a richiesta 1/8"' GAS z
EN 15714-3 (Namur) interface on request
M5 = T Vo 1
@5 L &
O © ||| 12 i -
B 1= g Bl — - - T
Gf P T ) et - 7e+ | ==
& o / DK a
24 .ui — L
Optional Code KBNI4015 szl ] % M5x8
*Anello di centraggio
*Centering ring
Interfaccia EN 15714-3 (Namur) a richiesta
EN 15714-3 (Namur) interface on request Mb5x6é
50 T —
—+ N o/ =—
| 9| g
L T =i
: —@ia—'
Optional Code KBVI4015 Ghill
. L2
L
OEH]]
<y
— X
- @\j @V, .
L[] w (L]
ENISO 5211
<

*Anello di centraggio
Centering ring

Interfaccia EN 15714-3 (Namur) a richiesta

EN 15714-3 (Namur) interface on request

M5x8
24
- Q —
. o
M5x8 I
©
Sl
, Vo,
© )
I i i I
Ghil

-37-

Interfaccia per accessori
EN 15714-3 (VDI/VDE 3845)

Accessories interface
EN 15714-3 (VDI/VDE 3845)

[
S
<
B
O
~
Y
g
=
>
W
=
a




. 48 + PNEUMATIC ACTUATORS > DOUBLE ACTING “DA"TYPE F316 FROM SOLID BAR OMAL S.pA.

F316 "DA"

PNEUMATIC ACTUATOR

Double ACTING "DA"TYPE INOX F316 FROM SOLID BAR

TECHNICAL FEATURES
> $H%5 : 720 Nm ~ 1920 Nm Torque from 720 Nm to 1920 Nm.
> TEGEZ 55 ENISO 5211%54 F10 - F12 - F14 - F16 Mounting flange according to EN ISO 5211
AEN 15714-345 F10—F12.—F'|4—.F16.
N ﬁﬁ%ﬁrg - 9Q° (_10' +9lo) Z'l io:?pllanc7 W;t;ifl\;]i;z‘g.;.
e . — otation angle: -1°
> 18 SIRAT , FEDARRIMFXIRATRES. charSiRE Torque: directly proportional to the air supply (see table - general catalogue
73 TE{JFEME{E" . pneumatic actuator DA).
> BAIRELATE : £552014/34/EU ATEX f7E. The code numbers after the DA letters, always correspond to the breakaway
torque in Nm by 5,6 bar air supply.
On request: ATEX version in conformity with directive 2014/34/EU.
WORKING CONDITION
> BE -20°C ~ +80°C Temperature: from -20°C to +80°C.
> SJEES : 5.6bar (5k8.4bar) Air supply: 5,6 bar; maximum 8,4 bar.
> BSEE : EETESS , TEEE , EEEss , N Operating media: compressed filtered air, not necessarily lubricated. In case of
FE Sk E TN BRIHES, lubricated air, either non detergent oil or NBR compatible oil, must be used.

- 38 -



4.8 « PNEUMATIC ACTUATORS > DOUBLE ACTING "DA"TYPE F316 FROM SOLID BAR Z__

OMAL S.pA.

| punti di sollevamento sono progettati per il solo
attuatore
Per il sollevamento utilizzare due golfari M10

ENISO 5211 c D

I=i -8
O »

For the lifting use n° 2 eyebolts M10
Lifting point are designed for actuator only

i I E— i -
| J )
\ | ¢
o - © — O s B S e ]
i i 2N
T T
K
Y
80
E “
% Interfaccia per accessori
EE—f - - EN 15714-3 (VDI/VDE 3845)
—| Accessories interface
A . EN 15714-3 (VDI/VDE 3845)
DATA SHEET
Code DA0720416S DA0960416S DA1440424S DA1440416S DA1920416S
54 Spare seals KGX10023 KGX10024 KGX10025 KGXI10025 KGX10026
Size DA0720 DA0960 DA1440 DA1440 DA1920
F10/F12 F12/F16 F12 F14 F12/F16
A 401,5 441 524,8 524,8 562
OB 27 36 36 36 46
C x depth M10x11,5 M12x20 M12x18 M16x18 M12x23
D x depth M12x11,5 M20x20 - - M20x23
(4] 102 125 125 140 125
OF 125 165 - - 165
G 19,5 19,5 19,5 19,5 18,5
oH 156 169 188 188 211
| 22 24 27 27 32
J 138,5 156,3 179,5 179,5 192
K 115 150 130 130 150 gg
L 178 198 216 216 2377 5
M 78,5 93,5 101,5 101,5 1147 Z £
N 99,5 104,5 114,5 114,5 123 a 5
o 295 385 385 38,5 485 S §
P 116 135 160 160 160 '5_(“34
2R 31,8 36,5 4 4 46 EE
S 30 30 30 30 30
T 148 168 186 186 207,7
X 150 150 150 150 150
Y 155 168 187 187 209
Z 345,8 381 433,8 433,8 469
Ch 24 24 30 30 30
(Kg) 30 40 50,5 50,5 73
(dm3/cycle) (I/cycle) 3,50 4,9 7,60 7,60 10,2

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici" a pag. 478.

-39 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.




. 49+ PNEUMATIC ACTUATORS > SPRING RETURNSR'TYPE F316 FROM SOLID BAR OMAL S.pA.

F316 “SR"

PNEUMATIC ACTUATOR

SPRING RETURN "SR"TYPE INOX F316 FEOM SOLID BAR

v Vv

H%E : 360 Nm ~ 960 Nm

L & 1SO 52114RE; FO3 - FO5 - FO7 - F10, &

EN 15714-3%Rf

BEEEREE 1 92° (-1° , +91° )

W RFEHARUA T REIEE | SREE UM R E, FRSR
BHIEFERIRIAYRES.6barSE NOFFSHEE. HEERT ,
fresEaLARAT St S A,

SR30M LA EATE 1S5 NAMUREBE HEERE
SR15A1ZHENAMURIZEREHR

PHIRBYENIE |, F&2014/34/EU ATEX i

TECHNICAL FEATURES

Torque from 360 Nm to 960 Nm.

Mounting flange according to EN ISO 5211; F10-F12 - F14 - F16.

In compliance with EN 15714-3.

Rotation angle: 92° (-1°, +91°)

Torque: the return torque depends on spring action only notwithstanding the
air supply. The spring is provided in four different sizes (see table - general
catalogue pneumatic actuator SR). The code numbers after the letters SR,
always correspond to the breakaway torque in Nm by 5,6 bar air supply. The
actuator automatic closing takes place in clockwise direction by means of its
springs.

On request: ATEX version in conformity with directive 2014/34/EU.

\%

BE : -20°C ~ +80°C

SiBES : 5.6bar (§k8.4bar)

WASEE - ERiEES . TEEE. NRESTEENES W
WS HAEEE T NBRAYHES.

WORKING CONDITION

Temperature: from -20°C to +80°C.

Air supply: 5,6 bar; maximum 8,4 bar.

Operating media: compressed filtered air, not necessarily lubricated. In case of
lubricated air, either non detergent oil or NBR compatible oil, must be used.

- 40 -




y N

49 « PNEUMATIC ACTUATORS > SPRING RETURN“SR"TYPE F316 FROM SOLID BAR OMAL S.p.A. -
4
N
A
z
B HL1
H H H
f 5
: - i I punti di sollevamento sono progettati per il solo attuatore
Per il sollevamento utilizzare due golfari M10
ENISO 5211 c D For the lifting use n° 2 eyebolts M10
7 Lifting point are designed for actuator only
AL
4 PR
< |

of o

i L+J i =
| ’ g ’ \ . &
——Jo———— @ e - s - - - _
1/4" GAS
f ! i =
—— o

H i
Y0,
| Sou Interfaccia per accessori
EN 15714-3 (VDI/VDE 3845)
i R RS S VD/VDE 3845)
1h1l
DATA SHEET

Code SR0360416S SR0480416S SR0720424S SR0720416S SR0960416S
{4 Spare seals KGX10023 KGX10024 KGX10025 KGX10025 KGX10026

size SR0360 SR0480 SR0720 SR0720 SR0960

F10/F12 F12/F16 F12 F14 F12/F16
A 565,5 598 736,8 736,8 769,6
A1 (2,8 Bar) 483,5 506 630,8 630,8 645
OB 27 36 36 36 46
Cx depth M10x11,5 M12x20 M12x18 M16x18 M12x23
D x depth M12x11,5 M20x20 - - M20x23
oE 102 125 125 140 125
oF 125 165 - - 165
G 19,5 19,5 19,5 19,5 18,5
oH 156 169 188 188 211
I 22 24 27 27 32
J 138,5 156,3 179,5 179,5 192
K 115 150 130 130 150
L 178 198 216 216 237,7
M 78,5 93,5 101,5 101,5 114,7
N 99,5 104,5 114,5 114,5 123
o) 29,5 38,5 38,5 385 48,5
P 116 135 160 160 160 oo
Q - - - - - £Q
Q2 - - - - - 23
R 31,8 36,5 41 41 46 20
S 30 30 30 30 30 =y
s2 - - - - - o3
<

T 148 168 186 186 207,7 53
™2 : : : : : ==
X 150 150 150 150 150
\ 155 168 187 187 209
z 5258 565 685 685 7184
Z1 (2,8Bar) 4358 473 559,4 559,4 593,8
Ch 22 22 24 24 24
Ch1 (2,8 Bar) 24 24 30 30 30
HE (Kg) 45,5 60 82,5 82,5 112
=5 (2,8 Bar) (Kg) 37,5 51 77 77 9%
FESE(dm3/cycle) (I/cycle) 2,00 2,8 4,20 4,20 59

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici” a pag. 478.

-41 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



y N

. 10 - PNEUMATIC ACTUATORS > DOUBLE ACTING “DA'TYPE A105

4
-

A105 "DA"

OMAL S.pA.

PNEUMATIC ACTUATOR

Double ACTING "DA"TYPE CARBON STEEL A105

TECHNICAL FEATURES
> A% : 720 Nm ~ 1920 Nm Torque from 720 Nm to 1920 Nm.
> ZREEE  AEN ISO 521145 Mounting flange according to EN SO 5211
FO3 - FO5 - FO7 - F10 - F12 - F16,/4&EN 15714-3fR F03 -F05-F07-F10-F12-F16.
N Bﬁiﬁ@fg - 92° (_10 +91° ) In Compliance with EN 15714-3.
I - .
. = = PRI — £ Rotation angle 92° (-1°+91°)
> ;gig {gﬁ}ﬁ%gkd\%!DAEE(JM?—FC%ESﬁbarﬁ}f TRIFR Torque: directly proportional to the air supply (see table pneumatic actuator
o DA).
> ?EE&ZHE\Z FIRE TR N The code numbers after the DA letters, always correspond to the breakaway
> BAIRBIATIE : /F52014/34/EU ATEX tR torque in Nm by 5,6 bar air supply.
Actuator with epoxy painting
On request: ATEX version in conformity with directive 2014/34/EU.
WORKING CONDITION
> BEE :-20° C ~ +80° C Temperature: from -20°C to +80°C.
> SJEES : 5.6bar ( 5A8.4bar) Air supply: 5,6 bar; maximum 8,4 bar.
> FNEE : EETRSS , TEEE , RBEIIIEELE | N Operating media: compressed filtered air, not necessarily lubricated. In case of
4l ﬁﬁﬂEiﬁf@ﬁUiHﬂﬂEﬁ%‘Eﬁﬁ FN BRH;‘JfEEHE’ ! lubricated air, either non detergent oil or NBR compatible oil, must be used.

-42 -




410 » PNEUMATIC ACTUATORS > DOUBLE ACTING “DA'TYPE A105 OMALSPA. i

= | punti di sollevamento sono progettati per il solo
attuatore

ENISO 5211 c D
Per il sollevamento utilizzare due golfari M10
For the lifting use n° 2 eyebolts M10
R Lifting point are designed for actuator only
o@ c
i — g =
| : : |
o—————9 ——— o33 5 - - i
1/4" GAS
f | i 8
T T T K

80
i “ g
s Interfaccia per accessori
=H- - -H EN 15714-3 (VDI/VDE 3845)
—| Accessories interface
f . . g EN 15714-3 (VDI/VDE 3845)
DATA SHEET

Code DAC0720416S DAC0960416S DAC1440424S DAC1440416S DAC1920416S
ZEME Spare seals KGXI10023 KGX10024 KGX10025 KGX10025 KGX10026

size DAC0720 DAC0960 DAC1440 DAC1440 DAC1920

F10/F12 F12/F16 F12 F14 F12/F16

A 401,5 441 524,8 524,8 562
0B 27 36 36 36 46
Cx depth M10x11,5 M12x20 M12x18 M16x18 M12x23
D x depth M12x11,5 M20x20 - - M20x23
oF 102 125 125 140 125
oF 125 165 - - 165
G 19,5 19,5 19,5 19,5 18,5
@H 156 169 188 188 211
I 22 24 27 27 32 _
J 1385 156,3 1795 1795 192 28
K 115 150 130 130 150 =5
L 178 198 216 216 237,7 = E
M 78,5 93,5 101,5 101,5 114,7 £Z
N 99,5 104,5 114,5 114,5 123 o
o 29,5 38,5 38,5 38,5 485 '<D‘< S~
P 116 135 160 160 160 EZ
@R 318 36,5 a a 46 -
S 30 30 30 30 30
T 148 168 186 186 207,7
X 150 150 150 150 150
Y 155 168 187 187 209
z 345,8 381 433,38 433,38 469
Ch 24 24 30 30 30
BE (Kg) 30 40 50,5 50,5 73
58 (dm3/cycle) (I/cycle) 3,50 49 7,60 7,60 10,2

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici’ a pag. 478.  "Pneumatic Actuator Components’ Table” to be found in the Index on page 479.

-43 -



. 411 « PNEUMATIC ACTUATORS > SPRING RETURN"SR'TYPE A105

4
-

A105 "SR"

OMAL S.pA.

PNEUMATIC ACTUATOR

SPRING RETURN "DA" TYPE CARBON STEEL A105

> #H%5 : 360 Nm ~ 960 Nm

> LEEEE &S ISO 5211474 FO3 - FO5 - FO7 - F10/F&
EN 15714-3tRf

> HEEEFREE : 92° (-1° , +91° )

> 1HE  IRFEAAEBURTHERINE | HEFINFR I E. SR
BRI R AYRTES 6barSE NI EHAE. HEERAT . H
= iR gl FSEN

> SR30K LA EATEESNAMUREE #EER:

> SR1SATEMHNAMURIERER

> FHIREIENE | 82014/34/EU ATEX ot

TECHNICAL FEATURES

Torque from 360 Nm to 960 Nm.

Mounting flange according to EN ISO 5211; F10-F12 - F14 - F16.

In compliance with EN 15714-3.

Rotation angle 92° (-1°, +91°)

Torque: the return torque depends on spring action only notwithstanding the
air supply. The spring is provided in four different sizes (see table - general
catalogue pneumatic actuator SR). The code numbers after the letters SR,
always correspond to the breakaway torque in Nm by 5,6 bar air supply. The
actuator automatic closing takes place in clockwise direction by means of its
springs.

Actuator with epoxy painting

On request: ATEX version in conformity with directive 2014/34/EU.

> JBE :-20° C ~ +80° C

> SiBEES] : 5.6bar ( HX8.4bar)

> RSEE  ERTEES  BREE. IRELLEBNES ., U
WA FRTE s RS B &R - NBRASI AR

WORKING CONDITION

Temperature: from -20°C to +80°C.

Air supply: 5,6 bar; maximum 8,4 bar.

Operating media: compressed filtered air, not necessarily lubricated. In case of
lubricated air, either non detergent oil or NBR compatible oil, must be used.

- 44 -




y N

4.11 « PNEUMATIC ACTUATORS > SPRING RETURN “SR"TYPE A105 OMAL S.p.A. -
4
N
A
z
0B H11
H 5, 8 H
- _ _ F
(-
oF 1%]3
I punti di sollevamento sono progettati per il solo attuatore
E z i i Per il sollevamento utilizzare due golfari M10
For the lifting use n° 2 eyebolts M10
ENISO 5211 c D Lifting point are designed for actuator only
71
Al
4
T PR
<
oot ] ;
i L+J i z
. J J ‘
‘ i \ . S
e [ e I ——— | S — S I e —
‘ \_1/4" GAS
f | i =
——T o

H H
B Interfaccia per accessori
EN 15714-3 (VDI/VDE 3845)
Accessories interface
E H\EN 15714-3 (VDI/VDE 3845)

1h11

DATA SHEET

Code SRC0360416S SRC0480416S SRC0720424S SRC0720416S SRC0960416S
BEHE Spare seals KGX10023 KGX10024 KGX10025 KGX10025 KGX10026

size SRC0360 SRC0480 SRC0720 SRC0720 SRC0960

F10/F12 F12/F16 F12 F14 F12/F16

A 565,5 598 736,8 736,8 769,6
A1 (2,8 Bar) 483,5 506 630,8 630,8 645
0B 27 36 36 36 46
Cx depth M10x11,5 M12x20 M12x18 M16x18 M12x23
D x depth M12x11,5 M20x20 - - M20x23
oE 102 125 125 140 125
oF 125 165 - - 165
G 19,5 19,5 19,5 19,5 18,5
oH 156 169 188 188 211
[ 22 24 27 27 32
J 138,5 156,3 179,5 179,5 192
K 115 150 130 130 150
L 178 198 216 216 2377 =
M 78,5 93,5 101,5 101,5 114,7 E '§
N 99,5 104,5 114,5 114,5 123 =
0 29,5 38,5 38,5 38,5 48,5 =5
P 116 135 160 160 160 &3
R 31,8 36,5 41 41 46 OF%
5 30 30 30 30 30 53
T 148 168 186 186 207,7 Eg
X 150 150 150 150 150
Y 155 168 187 187 209
z 5258 565 685 685 7184
Z1 (2,8 Bar) 4358 473 559,4 559,4 593,8
Ch 22 22 24 24 24
Ch1 (2,8 Bar) 24 24 30 30 30
BEE (Ko 455 60 82,5 82,5 112
£ (2,8 Bar) (Kg) 37,5 51 77 77 96
#FE5SE (dm3/cycle) (I/cycle) 2,00 2,8 4,20 4,20 59

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici" a pag. 478.

=45 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



y N
..

4.12 « PNEUMATIC ACTUATORS > ALLUMINIUM TWO STAGE PNEUMATIC ACTUATOR

ALUMINIUM TWO STAGE PNEUMATIC ACTUATOR

OMAL S.pA.

> IEEERAE | &A45°

> BRAIEREME 1 92° (-1°, +91° )

> 1H5E . SIERERS , FEDARRIEEFHRERS.6barSiIREI TR
FEHAEE

TECHNICAL FEATURES

Metering rotation angle: 45° max.
Max. rotation angle: 92° (-1°, +91°)
Torque (see the corresponding actuator tables).
The code numbers after the letters DDN, always correspond to the breakaway
torque in Nm at 5,6 bar air supply.

> SJEES : 5.6bar ( 5A8.4bar )
> RSEE : ERdEES  THRIEE  MRBLDEEGE , N
RFEFFEERFImRE T & &R NBRAYHAS.

> B 0° C ~ +80° C;-20° C ~ +80° C ({RFIEZS)

WORKING CONDITION

Temperature: from 0°C to +80°C; from -20°C to +80°C with dry air only.

Air supply: 5,6 bar; maximum 8,4 bar.
Operating media: compressed filtered air, not necessarily lubricated. In case of
lubricated air, either non detergent oil or NBR compatible oil, must be used.

DATA SHEET

VDI/VDE 3845 NAMUR

1/8" GAS

N

0o

\’b

ocC

M5

VDI/VDE 3845 NAMUR

Code DDNO030401S = DDN030402S DDNO060401S DDN060402S DDN106401S  DDN240401S A DDN480401S
Size DDN 30 DDN 30 DDN 60 DDN 60 DDN 106 DDN 240 DDN 480
F03-F05 Fo4 F04 F05-F07 F05-F07 F07-F10 F10-F12
A [mm] 355 355 423 423 502 589 702
B [mm] 245 245 278 278 345 416 491
C [mm] 29 29 29 29 29 40 55
EHE weight Kg. 1,8 1,8 2,8 2,8 4,7 8 14,3

Per la tabella dei componenti vedi "Indice tabelle componenti attuatori pneumatici" a pag. 478.

- 46 -

"Pneumatic Actuator Components’ Table” to be found in the Index on page 479.



4.2 + PNEUMATIC ACTUATORS > ALLUMINIUM TWO STAGE PNEUMATIC ACTUATOR OMALSPA. i

4
-

Working plane

B1 A Bl

1=
|
4
I
o=

O

> iR BRI ERESEERRRSY AT HKRNITERE

General use and working condition

USE: Filling and metering of fluids or solids-mix materials by means of a special metering device.

> Hif j’h’\/ . ENISO 5211 Double acting actuator for fine or rough metering.
> TIERS : HomalWaiiTediEuisk, #MERMANSEL a‘gsl‘(’r'\:g";v‘gfgg '5‘"’ T’ZO ZZ 1. el consists of an Omal double acii o with
-y ; : The basic model consists of an Omal double acting actuator, equipped wit
EENAEEBRTHKLETRBENT %%?"?ﬁui]{;ﬁ%].t%iﬁ, two additional cylinders whose inner-pistons, by means of a stroke adjustment device, stop the
ﬁi%?mﬁﬂ’]%ﬂ] M mz| ZANENREES. rotating angle of the actuator to a pre-set position, preventing it from a complete rotation and
XN EBFEAHIBEEIRS, E1= 5/2; E2 =3/2, El IR EHH influencing the total valve flow pressure.
T SEL This device is driven by two solenoid valves.

E1=15/2; E2=3/2. E1 drives the actuator, while E2 drives the two external cylinders.
Some examples referring to the valves in the drawing above:
- with a completely CLOSED VALVE (0°) You will have:

E1:air supply in A, exhausts in B

E2: exhausts in B1.
- with a completely OPEN VALVE (90°) rough metering You will have:

E1:exhausts in A, air supply in B

E2: exhausts in B1.
When You reach the desired level, e.g. 90% of the total filling, the rough signal (completely open
valve) will turn off and the air, flowing through E2 and then changing the position of E1, will get to
the external pistons which will move to the desired rotating angle, e.g. 30° (fine metering), conse-
quently reducing the total valve flow..
With an OPEN VALVE, e.g. 30° fine metering, You will have:
E1:air supply in A, exhaust in B;
E2: air supply in B1
This intermediate position and the corresponding valve flow pressure will be reproduced, whenever
you repeat the process.
NOTE: Thanks to control “D’, the desired metering can range from 0° to 45°.When the desired level is
the same as the actual one, the fine-metering signal on E2 (exhaust in B1) will turn off; the actuator
will start moving and make the valve close, completely. Now the filling and metering process is over.
CONCLUSION: “OMAL” device can be assembled wherever you need to furnish exactly the same
quantities in long working cycles.

FULLY CLOSED POSITION
EXAMUE | =SB |, H2F06HE,
In this position the air is supplied to port 4 with exhaust air at port 2 and 6.

(6% 2] 4 [4] ary

(approssimativamente 90°) i 1
FULLY OPEN POSITION (90° rough metering)
EXAMUE | SH22HAN |, BHATI6HE,

In this position the air is supplied to port 2 with exhaust air at port 4 and 6. ﬁ
iz

(misura precisa)
INTERMEDIATE POSITION (fine metering)
FMAIE | =SH6HEA |, B2k , XiPER FNEREERE AR — M EIERT
IEEERE , NTRDBME TRE.
In this position the air is supplled to port 6 than to port 4, with exhaust air at port 2. In this
case the external pistons will move to the desired rotating angle, consequently reducing the
total valve flow.

[
S
<
B
O
~
]
=
=
>
W
=
a

27 44 v 4g
_47 -






i

ATTUATORI ELETTRIOCI

ELECTRIC ACTUATORS




y N

.. 5 - ELECTRIC ACTUATORS > "AE" ON-OFF ROTARY TYPE OMAL S.pA.

4
-

IIAEII
ELEcTRIC ACTUATOR "AE" ON-OFF ROTARY TYPE

TECHNICAL FEATURES

Actuator ON-OFF; working angle 90° (100° Max.).
Service 50%

Maximum torque from 10 to 1960 Nm. (see the table)
Supply voltage 230 Vac (+10%) 50/60 Hz 1Ph
Insulation resistance 100 M /500 Vdc

Tension insulation 1500 Vac/1 minute

Motor with Class E insulation

Working temperature from -25°C to + 55°C (for use in temperatures below
0°C, we suggest anti-condensate elements)
Protection according to NEMA 4,4X rules (IP65)

FFB-TEMRE © 90° ( HK100°)

TAEREEE : 50%

BAIH%E : 10 ~ 1960 Nm(ZI1F1%K)

TYEEBIE : 230 Vac (+ 10%) 50/60 Hz B4

PP - FFANEMA 4,4X R (IP65)

#a45EaRE : 100M / 500Vdc, #54%EE : 1500 Vac/55
EEHNBSRER  ER

TYERRE : - 25° Cto + 55° C

VV V VVVYVYV

(GIRRFTO° LI ERIUSE )
LI#GE= 1 FO3 ~ F14 F&(ISO 5211)ink
FEALT B ERIP

Coupling flange for the valve from F03 to F14:1SO 5211.

Auto-reset thermostatic protection in the motor.

Open/close limit switch with cams adjustable along the whole stroke
Auxiliary limit switches with cams adjustable along the whole stroke

Safety adjustable mechanical limit switches.
Graduated visual position indicator

Detachable lever for manual operation

Electric connections with screw terminals

Locking of supply cables by means of cable presses.
Maximum working noise <70 dB (A).

FRAFFRHE TR AN
REAENRIRMFTX. AUEET
BFFh N o BIFR
TRBSEREL. BEIEERT
BRATYEIRE : 70 dB(A)

V V V V V V VvV

OPTIONAL (MUST BE REQUESTED WHEN PLACING THE ORDER)

> EB% : 115 Vac - 24 Vac (*) - 24 Vdc (**) Feeding voltage 115 Vac - 24 Vac (*) - 24 Vdc (*¥).
> SR RIPEE Torque limiters.
> {BEELT : 35/ 500/ 1K ohms Positional potentiometer 135 /500/ 1K ohms.
> JEMESEESE : R/I 4+ 20 mA DC (*** Positional converter R/l 4+20 mA DC (**¥).
S J‘EJEE%U%% - 30+ 240 s () ) Speed control unit 30+240 s (***).
o o Space heater.
> fﬁlﬂpumﬁ% Emergency gear box (available on AE100 and AE200).
> %%7%2@?*@ ({RBE?AEIOO *u AEZOO) Drive socket.
> HUTER S &R *  AE 10+AE 200 only

* (RFRTFAE 10 - AE 200
* (RFRTFAE 40 - AE 200
* {YPRFAE 100 - AE 2000(Vac)

DATA SHEET

**AE 40+AE 200 only
*** AE 100+AE 2000 only (Vac)

Y5 - MODEL AE 10 AE 40 AE100 | AE200 = AE400  AE600  AE 1000 = AE 1500 = AE 2000
%8 Torque Nm 10 39 98* 196 390 590 980 1470 1960
{BERATE] Time of cycle (50 Hz) sec. 4 15 30 30 30 30 30 45 60
TEFRRTIE) Time of cycle (60 Hz) sec. 33 12,5 25 25 25 25 25 38 50
fEIRAGIE] Time of cycle 24Vdc sec. — 9,5 16 30 — o - - o
JEFEERIAT Power consumption 230Vac 50/60Hz A 0,4/0,5 0,4/0,5 0,35/04 | 0,55/0,6 0,9/1 11,1 1,5/1,6 1,8/1,9 1,9/2
JEFEFBIR Power consumption 115Vac 50/60Hz A 08/09 | 08/09 0,6/0,7 1,11,2 1,9/2 1,9/2 2,9/3 3,4/3,5 3,4/35
JHFEFBIR  Power consumption 24Vac 50/60Hz A 1,2/1,3 1,2/1,3 1,7/1,8 2,3/2,4 - o - - o
JHFEFEEIAT  Power consumption 24Vdc A — 2 2,5 2 - - i o -

* 12424 Vdc: 68 Nm  Supply 24 Vdc: 68 Nm

- 50 -



5.1 « ELECTRIC ACTUATORS > "AE" ON-OFF ROTARY TYPE OMALSPA. i

4
-

B A
E \' D
S E——
‘ 1
[ | | _ |
& LY
VISTADA A
VIEW FROM A
_ - L R
V)
&) &, “
O % ] I >
Passaggio cavo @ 9-11 mm oM
Cablebore P 9-11 mm T
A
Giunto .
(optional)
Drive socket ;
(optional)
N Per questi modelli utilizzare un giunto con due chiavette
For these models use a drive socket with two keys
AE10-AE40 AE100~AE400 AE600~AE2000
\K\u oF \
MATERIALS
1 | K- Body $558 - Aluminium
2 | FEmN{Emh#A - Gear box cap 558 - Aluminium
3 | {EIEREE - Position indicator IREE - Glass
4 EBBSTENR - Electric-set cap 48 - Aluminium
5 | $E&EEE - Terminal-box cap §558 - Aluminium
6 EBYAEESL - Cable gland TAV¥BELAE 10 - AE 40 : BB)
7 | FIRIERE - Lever connection 4 - Steel
8  HhiESL - Female shaft TPZBREL(AE 1500 - AE2000 : $)
9 | ZL(Z1L - Security stops 54N - Stainless steel
10 SFARIERE(FIP - Protections for lever connection NBR
11 3F#R - Lever (non rappresentata - not represented) AEEIM - Stainless steel
DIMENSIONS
- MODEL AE 10 AE 40 AE 100 AE 200 AE 400 AE 600 AE 1000 AE 1500 AE 2000
A mm. 158,5 158,5 207,5 256,5 256,5 381 381 381 381
B mm. 114,5 114,5 122,5 156,5 156,5 242 242 253,5 253,5
Cmm. 119,5 119,5 163,5 185 185 234 234 234 234
D mm. 76 76 110 133,5 133,5 199,5 199,5 199,5 199,5
E mm. 51 51 54,5 62,5 62,5 105 105 105 105
@F mm. - - 28 36 36 56 56 56 56
G mm. = = 6 8 8 10 10 10 10
H mm. - - 16,5 21,3 21,3 31,3 31,3 31,3 31,3
I mm. 1 1 11,5 12 12 8 8 8 8
K mm. 16 16 29 34 34 54 54 54 54
L mm. 12 12 40,5 46 46 62 62 62 62
@M mm. 26 26 35 40 40 65 65 65 65
@P mm. 50 FO5* 50 FO5* 70 FO7 102 F10 102 F10 125 F12** | 125 F12** 140 F14 140 F14
2Q mm. 36 FO3* 36 FO3* 50 FO5 70 FO7 70 FO7 102 F10** | 102 F10 ** - - g &
R x prof. depth mm. Méx12* Méx12* M8x12 M10x16 M10x16 M12x20 ** = M12x20 ** M16x25 M16x25 = g
S x prof. depth mm. M5x10* M5x10* M6x10 M8x8 M8x8 M10x20 ** | M10x20 ** - - é 8
T mm. 80 80 98 135 135 160 160 160 160 g 6
U mm. 72 72 86 106 106 140 140 140 140 = E
V mm. 26 26 26 26 26 =
Peso Weight Kg. 2,7 2,7 4,5 8,5 9 20,5 21,5 22,5 22,5 <

* FRIBESKETEM 42 FO4R9E=18247,9M5X10 - On request the flange is available with M5x10 on @42 F04 holes
*IRIEERAIRM 100 F1AR9E=1R22F,9M16x25 - On request the flange is available with M16x25 on @100 F14 holes

-51 -



. 5.2 + ELECTRIC ACTUATORS > "AM" ROTARY MODULARTYPE OMAL S.pA.

4
-

n A I\/I n
ELECTRIC ACTUATOR "AM" ROTARY MODULAR TYPE

TECHNICAL DATA
> AP EH TS Electronic control MODULATING Actuator
> $F390° (( HK100° ) Working angle 90° (100° Max.)
> BAHHSE : 20 ~ 1960 Nm ( EIsE ) Maximum torque from 20 to 1960 Nm. (see the table)
> I{/EEEE . 230 Vac 50/60 Hz ﬁ*ﬁ Voltagg 230 Vac 1Ph 50/60 Hz.
I arei iyt Input signal 4~20 mA (1~5 Vdc).
> E{,ﬁ{mﬁjﬁ\ IF/ 5164 Output signal 4~20 mA (1~5 Vdc AM 20).
> #a2%EEfH : 100M / 500Vdc High resolution 1/250 (adjustable 1/200 ~ 1/400).
> EENBGES B4 gdjust/able zer,(z/span. I
9 - 2PN irect/reverse function selector.
> BB;FI%& : P65 (RFGNEMA 4,4X) Mode selector without OPEN-CLOSE-STOP signal
> BNES 1 4~20 mA (1~5Vdo) Insulation resistance 100 M /500 Vdc
> ETRE : 1/250 (£ 1/200 ~ 1/400/87T33) Tension insulation 1500 Vac/1 minute
SN2 SR FF-%-(= Motor with Class E insulation
> %Eﬁ").\ ”?Ejl{fj%it&;* XA Working temperature from -25°C to + 55°C (for use in temperatures below 0°C,
> MifE : 1500 Vac/s34# we suggest anti-condensate elements)
> T{ERE : - 25° Cto+55° C Protection according to NEMA 4,4X rules (IP65)
QNIRRT LT , BiERSER) Coupling flange for the valve from F03 to F14:1SO 5211.
sdas . E03 . F1 4 A1S0 521145 Auto-reset thermostatic protection in the motor.
> §£(£: el Ha L3 Open/close limit switches with cams adjustable along the whole stroke
> EBHISHAREMEP Limit switches with adjustable cams.
> PRAFFESS(TIERE N Safety adjustable mechanical limit switches.
—pim Graduated visual position indicator
> Fﬁ?%ﬁj]i;f{’ﬁﬂ'\]ﬁjﬁj\%?ﬁ Detachable lever for manual operation
> WRETIERRR T Electric connections with screw terminals
> CRBEYEEL Locking of supply cables by means of cable presses
o . Maximum working noise <70 dB (A).
> BATFIRE : 70 dB(A)
OPTIONAL (MUST BE REQUESTED WHEN PLACING THE ORDER)
> HB[E : 115 Vac - 24 Vac(*) Feeding voltage 115 Vac - 24 Vac. (¥)
> BINEER : 4~12 mA (1~3 Vdc) - 12~20 mA (3~5 Vdc) Input signal 4~12 mA (1~3 Vdc) - 12~20 mA (3~5 Vdc).
- Auxiliary limit switches.
; gggé{ﬁlﬁg* Torque limiters.
ey Space heater.
> Ifﬁlﬂpllx%% Drive socket.
> BRREFW () Emergency gear box. (**)
*AM 50-AM 100 *  AM 50-AM 100
*AM 50-AM 100-AM 200 ** - AM 50-AM 100-AM 200
DATA SHEET
- MODEL AM 20 AM50 AM100 AM200 AMA400 AM500 AM1000 AM 1500 AM 2000
1H%E Torque Nm 20 49 98 196 390 490 980 1470 1960
{EIRNETIE] Time of cycle (50 Hz) sec. 15 15 30 15 30 15 30 45 60
{EIRETIE] Time of cycle (60 Hz) sec. 12,5 12,5 25 12,5 25 12,5 25 38 50
JEFEERIR  Power consumption 230Vac 50/60Hz A 0,4/0,5 0,35/04 @ 0,35/0,4 0,9/1 0,9/1 1,3/14 1,3/14 1,3/14 1,3/14
JEFEFEIAT Power consumption 115Vac 50/60Hz A 0,8/09 | 06/07  06/0,7 1,9/2 1,9/2 25/26  25/26 2,5/2,6 2,5/2,6
JHAEEBIAT Power consumption 24Vac 50/60Hz A - 1,718 | 1,718 - - - --- - -

-52-



5.2 « ELECTRIC ACTUATORS > "AM"ROTARY MODULAR TYPE

OMAL S.pA.

y N
..

4
-

B A
E V | D
J;%\} - ~
// | \\ // i
| £ T ™
0 2 )
@E VISTA DA A
VIEW FROM A
5 . _ |
&2 g ‘
O % ] >
Passaggio cavo ?9-11 mm
Cable’bore  9-11 mm
7
1
Giunto _ H
(optional) I
Soianan’ ;; ) * m ) ) . . o hesmdos st v socatminomo o'
‘H‘ ‘ ‘H m AM20 AM50~AM400 AM500~AM2000
f\ \. | ,/ B | ©
&"J [ I \‘ \‘ \‘ \‘ == H‘#‘ | ‘H“ of
— ¢‘ — (1) H
1 7K - Body §552 - Aluminium
2 | FEEFNE - Gear box cap $548 - Aluminium
3 | [SIEIBREE - Position indicator IIE - Glass
4 | EBBEEEWN - Electric-set cap E548 - Aluminium
5 | $E&EE- Terminal-box cap 548 - Aluminium
6 EBSSETESL - Cable gland TV¥BEL - Zinc alloy
7 | FIRESE - Lever connection 5N - Steel
8 | 4k - Female shaft TA¥E%} (AM1500 - AM2000 4X)
9 Z(=IE - Security stops A58 - Stainless steel
10 FHRIEEHRIF - Protections for lever connection NBR
11 ZFH - Lever (non rappresentata - not represented) N$E4M - Stainless steel
- MODEL AM 20 AM 50 AM 100 AM 200 AM 400 AM 500 AM 1000 AM 1500 AM2000
A mm. 165,8 207,5 207,5 256,5 256,5 381 381 381 381
B mm. 114,5 122,5 122,5 156,5 156,5 242 242 253,5 253,5
C mm. 119,5 163,5 163,5 185 185 234 234 234 234
D mm. 83,3 110 110 133,5 133,5 199,5 199,5 199,5 199,5
E mm. 51 54,5 54,5 62,5 62,5 105 105 105 105
OF mm. - 28 28 36 36 56 56 56 56
G mm. ---- 6 6 8 8 10 10 10 10
H mm. - 16,5 16,5 21,3 21,3 31,3 31,3 31,3 31,3
I mm. 1 11,5 11,5 12 12 8 8 8 8
K mm. 16 29 29 34 34 54 54 54 54
L mm. 12 40,5 40,5 46 46 62 62 62 62
@M mm. 26 35 35 40 40 65 65 65 65
@P mm. 50-F05 70-F07 70-F07 102-F10 102-F10 125-F12* 125-F12* 140-F14 140-F14
?Q mm. 36-F03 50-F0O5 50-FO5 70-FO7 70-FO7 102-F10* 102-F10* - —
R x prof. depth mm. Mé6x12 M8x12 M8x12 M10x16 M10x16 M12x20* M12x20* M16x25 M16x25
S x prof. depth mm. M5x10 M6x10 M6x10 M8x13 M8x13 M10x20* M10x20* -—-- -
T mm. 80 98 98 135 135 160 160 160 160
U mm. 72 86 86 106 106 140 140 140 140
V mm. 40 44 44 44 44 === oo === ===
Peso Weight Kg. 3,1 4,5 4,5 8,7 8,7 22,8 22,8 22,8 22,8

* FRIBESR Ot @100 F14/9;5=12%2 M16x25 - On request the flange is available with M16x25 on @100 F14 holes

- 53 -

0
o
&
£
i
—
i
5
<
o}
E
<<

%)
S
S
=
S
<
1S}
5
=
wy




y N
o 5+ ELECTRIC ACTUATORS

AE

FO3-F14

ELECTRICAL ACTUATOR “AE” ON-OFF TYPE F03+F14 ATTACHMENT
HEFIHITERIT S Sizes and actuator codes

————
N 4
ELECTRIC ACTUATOR
CODES AND OPTIONS
o AE10  AE10 = AE40  AE40
gltgge FO3-FO5 = F04 | FO03-FO5 = FO04
230V 50/60 Hz AE160001 | AE161001 AE160004 | AE161004
115V 50/60 Hz AE150001 | AE151001 AE150004 | AE151004
24V 50/60 Hz AE120001 | AE121001 | AE120004 = AE121004
29Vde @ - @ - AE020004 | AE021004

AE 100 AE 200 AE 400 AE 600
F05-FO7 @ FO7-F10 = FO7-F10 @ F10-F12
AE160010
AE150010
AE120010 | AE120020 W - | = ----
AE020007 A AE020020 & - | -
AM FO5-F14

AE 600

F14

F14

OMAL S.pA.

AE 1000 = AE 1000 = AE 1500 = AE 2000
F14 F10-F12

F14

AE160020 | AE160040 | AE160060 | AE161060 AE160100 AE161100 | AE160150 | AE160200
AE150020 | AE150040 = AE150060 AE151060 AE150100 AE151100 AE150150 AE150200

ELECTRICAL ACTUATOR “AM” MODULATING TYPE FO5+-F14 ATTACHMENT
HIAEFIHITERITEYS Sizes and actuators codes

FERHATRRAC A IR B RAD

AM 200  AM 400
FO7-F10 | FO7-F10

AM160002 = AM160005 AM160010 AM160020 AM160040 AM160050 AM161050  AM160100  AM161100 | AM160150 AM160200

AM 500
F10-F12

AM 500
F14

AM 1000 = AM 1000 = AM 1500 =AM 2000

F10-F12

EXTRA ACCESSORIES FOR ELECTRICAL ACTUATORS AND CORRESPONDANT IDENTIFICATION

Voltage AM 20 AM 50 AM 100
F03-FO5 | F05-FO7 | FO05-F07
230V 50/60 Hz
115V 50/60 Hz
24V 50/60 Hz AM120005 | AM120010
DESCRIPTION

ZIBRGRIFFE 2 auxiliary limit-switches

B3/t 135088 ohm Potentiometer 135 ohm
E3{\71t 500EXE ohm Potentiometer 500 ohm
E3{\7it 1000EXM} Potentiometer 1000 ohm
R/IZEHEEE 4~20 mA R/l convertor 4+20 mA
TRREIRHIEBE Speed control

KAOTSIFEPREIZE Close torque limiter
FHOT4ERREISE Open and close torque limiter
B Anti-condensate element

FiRVEFE Wheel for manual operation

F14

F14

CONFIGURATORE CONFIGURATOR

AL2
AP1
AP2
AP3
ARI
ASC

F14

AM150002 AM150005 AM150010 AM150020 AM150040 AM150050 | AM151050 AM150100 AM151100 AM150150 AM150200

AT1 - (AT5 AE600+2000 AM 500+-2000)
AT2 - (AT6 AE600+2000 AM 500-+2000)

ASH
AHW

ARI

NO

NO

SI/YES

NO

NO

SI/YES

NO
NO
NO

HTRRECER
MAXIMUM CONFIGURATION FOR THE SUPPLY OF ACTUATORS
AT1/AT2
AP(1-2-3) AT5/AT6 ASH
AE 10 - AE 40
Voltage AC - DC SI/YES SI/YES(T1) SI/YES
AE 100 - AE 200
Voltage AC SI/YES SI/YES SI/YES
AE 100 - AE 200
Voltage AC NO SI/YES SI/YES
AE 100 - AE 200
Voltage DC SI/YES SI/YES SI/YES
AE 400 + AE 2000
Voltage AC SI/YES SI/YES SI/YES
AE 400 - AE 2000
Voltage AC SI/YES SI/YES SI/YES
AM 20 NO NO NO
AM 50 +- AM 200 NO SI/YES NO
AM 50 + AM 200 NO SI/YES SI/YES
AM 400 = AM 2000 NO SI/YES SI/YES

Legend

SI/YES = a2tk RIS HITEEHIECH available accessory
NO = ARt BV SHITEEAIBTE accessory not available
INote: Fa M INMHAETFELT 51052 AE All extra accessories must be requested when placing the order.

-54 -

NO

ASC

NO

SI/YES

NO

NO

SI/YES

NO

NO
NO
NO
NO

AHW

NO

SI/YES

SI/YES

SI/YES

NO

NO

NO
SI/YES
SI/YES

NO

AL2

STD

STD

STD

STD

STD

STD

NO
SI/YES
NO
SI/YES



y N

5 « ELECTRIC ACTUATORS “E..

OMAL S.pA.

4
-

ELECTRIC ACTUATOR
ELECTRIC PLAN AND CONNECTION EXAMPLES

U T T THeRmaLprOTECTOR N
| PROTEZIONE TERMOSTATICA
I
\ L @ COMMON / COMUNE
! AE Vac
! LS1
I
c @ AE
I )
| 2R3 N — YA
| MOTOR L2 O RmEBIRAIT LR E.
: ° 3 CLOSE / CHIUDE
\ CoMvon Electrical actuator ON-OFF AE type
U @ COMUNE = Example of standard connection circuit
| 5 < . . . .
: LIMIT SWITCHES | s opi & 3 with alternative tension feeding.
| FINECORSA ApER0 | 52 Ex
1 AUSILIARI Z2 =&
X L 14 Sz S
I CLOSE 23
I _@ CHIUSO ° g
I
I
LACTUATOR/ATTUATORE _ _ _ _ _ _ _ _ _ __ _ __ 3 - EXAMPLE OF EXTERNAL CIRCUIT -
- ESEMPIO DI CIRCUITO ESTERNO -
AE Vac

*OPERATION*
______________________________________ “FUNZIONE®
AE Vdc B : OPEN  CLOSE
| MOTOR | APRE | CHIUDE |
1 1 1 1
AE ; o @_"Dc: S
> N — S 1 1 1
BiRFRIRAREREE | : : |
; S~ 5 O -1 +
. 1
Electrical actuator ON-OFF AE type ! ©
. p 1
Example of standard connection circuit !
. . . . 1
with direct tension feeding. E @ comvon | 5 &
! AUXILIARY COMUNE | 5 &
I LIMIT SWITCHES 53
| L 4 13 23
E FINECORSA _® o | S g
! AUSILIARI 8=
' s 5 E
! .m——@ ——ocLosE S E
! CHIUSO § S
! ACTUATOR / ATTUATORE T
- EXAMPLE OF EXTERNAL CIRCUIT -
AE Vdc - ESEMPIO DI CIRCUITO ESTERNO -

s a

OPEN / APRE

—— -

4~20mA*
——

BT

—— -
INPUT
4~20mA

|———

o
c L
d COMMON/COMUNE_| O
" -
MOTOR i CLOSE / CHIUDE o
THERMAL PROTECTOR | o 6
PROTEZIONE TERMOSTATICA °
OPEN/ APERTO <C O
[a
© CLOSE/ cHiusO 5
2 O
@ &
8O
AM Vac l '° (]
H—r ©
o
ACTUATOR / ATTUATORE

1 -EXAMPLE OF EXTERNAL CIRCUIT -

- ESEMPIO DI CIRCUITO ESTERNO -

OUTPUT (*AMZO:
1~5VDC

)

AM
iFEIRAIR R R

Electrical actuator Modulating AM type
Example of standard connection circuit
with alternative tension feeding.

-55-

Ug
o
£9
=<
W
=
= Y]
ZS
Oov
=
E=
@




y N
..
=
~

n EAII

5.3 « ELECTRIC ACTUATORS > "EA" ON-OFF ROTARY TYPE

OMAL S.pA.

ELecTrIC ACTUATOR "EA" ON-OFF ROTARY TYPE

RS

>
>
>
>
>
>
>
>

V VV VYV VYV VYVVYV

BEF 0 90° (F]7E20° ~ 95° ZjENETY)

REEA B E e FIREARAIT X

T{EH%E : 30~240Nm

TYERRER : S3 ED 50%F&CEl 60043t0E

FHiPeeR « P67 754 EN60529 e

T/ERE :-25 ~ +60 C

BEFERE:-40 ~ +90 C

FBJE : 230 Vac 50/60 Hz + 10% 848 ; 24V ac/dc + 10%
115 Vac 50/60 Hz + 10% B248 ; 24V dc + 5%

FFiSESE : 0~90° (IWHFER)

FENABSELR  FAR( 155° )

TRERZSEINMAEE (FEE)

IP67 Rz ES Ao ANIE R es

TN SPDTAHBIHIN S R PR AT XA TRZ AT

1EFSEE : {KERS7<2006/95/CE ; 2004/108/CE

FEISHYRIFBEhENL

Bl RTIA

ERE S FomREG

HNEBRTIM B TEEs

BATIEIRE : <70 dB(A)

TECHNICAL DATA

Nominal working angle: 90°, adjustable between 20° and 95°.

Type of setting: continuous by means of self-locking cams and electromechanical limt-
switches.

Nominal working torque: from 35 to 240 Nm.

Operation time (0° - 90°): see diagram.

Service: S3 ED 50% in compliance with CEl 60043.

Applicable regulations: Low Voltage Directive 2006/95/CE; Electromagnetic Compatibility
Directive 2004/108/CE.

Enclosure: IP67 in compliance with EN60529.

Working temperature: -25° +60°C.

Storage temperature: -40° +90°C.

Motor built-in auto-reset thermostatic protection.

Motor with Class F insulation (155°C) .

Rotor supported by ball bearings.

Connection for emergengy manual lever (hexagonal wrench in equipment).

External visual position indicator with graduated top.

Space heater (standard).

IP67 connectors also available, on request with pre-wired cable.

No. 2 SPDT auxiliary electromechanical limit switches with cams adjustable all along the
stroke.

Maximum working noise: <70 dB (A).

Supply voltage: 230 Vac 50/60 Hz +10% monophase; 115 Vac 50/60 Hz +10% monopha-
se; 24V ac/dc £10%; 24V dc £5%.

TORQUE
MODEL EA0035 EA0070 EA0130 EA0240
ZEHSE Nominal working torque Nm 35 70 130 240
BAHEHASE Maximum peak torque Nm 45 85 160 280

CODICI DI ORDINAZIONE ATTUATORE ACTUATORS ORDERING CODES

EA ~---

- -- 00

\

Torque
0035 =35Nm
0070 =70 Nm
0130 =130 Nm
0240 =240 Nm

A4 =115 Vac 50/60 Hz
A5 =230 Vac 50/60 Hz
U2 =24V ac/dc
C2=24Vdc

Connector
CO = E4idEL straight connector
PO = LEYESL L shape connector

"EA" Codes electrical actuator “EA” on-off

Voltage ‘

Sizes and actuator codes ‘

EA0035 EA0070 EA0130 EA0240

FO03-FO5-F07 FO5-F07 FO5-FO7-F10 FO7-F10
230V 50/60 Hz EA0035A5C000 EA0070A5C000 EA0130A5C000 EA0240A5C000
115V 50/60 Hz EA0035A4C000 EA0070A4C000 EA0130A4C000 EA0240A4C000
24Vac/dc universale universal EA0035U2C000 EA0070U2C000 EA0130U2C000 EA0240U2C000
24V dc EA0035C2C000 EA0070C2C000 EA0130C2C000 EA0240C2C000

- 56 -



y N

5.3 + ELECTRIC ACTUATORS > "EA" ON-OFF ROTARY TYPE OMALSPA. o
—
-
N
| = .-
: ]
i
@Q J‘[
Iy

Ol
Wi =
i

L~
p

MATERIALS
1 5K - Body 558 - Aluminium
2 | FahEshiE - Gear box cap §558 - Aluminium
3 | {EBHERES - Position indicator PMMA
4 | FBBEZEWN - Electric-set cap 548 - Aluminium
5 | LB - Terminal-box cap $558 - Aluminium
6 | EBUSEESL - Cable gland T #B#! - Zinc alloy
7 | ZF#RIE$E - Lever connection M - Steel
8 | WL - Female shaft TV#B#L - Zinc alloy
9 | Fi- Lever AE54X - Stainless steel —
oY
25
DIMENSIONS &S
A B C D E o oG oH of o oM N O P | OQ R S T U | Kg §§
EA0035 137 109 132 190 84 70 50 36 M8 M6 M5 70 74 59 14 69 18 26 67.5 3.6 LD_( =
G
EA0070 137 109 136 190 84 70 50 -- M8 M6 -- 70 74 59 14 69 18 26 67.5 3.8 E uﬂ..
EA0130 1575 1295 160 | 2215 93 102 70 50  M10 M8 M6 67.5 90.5 57 17 84 17 31 76 7.2
EA0240 157.5 1295 163.,5 2215 93 102 70 -- M10 @ M8 -- 67.5  90.5 57 22 84 17 31 76 7.5

-57-



. 53 + ELECTRIC ACTUATORS > "EA" ON-OFF ROTARY TYPE OMAL S.pA.

b
-
EAO0035
R EA0035 WORKING DIAGRAMS
. HAR/FBABA 146 / 90° TSGR0 HRAERTE]
35 secC.
14 i

3 Ve almenac . / 24 Vdc/ac alimentato ac

24 Vac/dc alimen.dc 24 Vdc/ac alimentato dc
25 24Vdc /

10
2 ~_—— 2300 115 Vac 50/60 Hz
74' 24 Vdc

1,5
1 715 Vac 50/60 Hz
a —
0,5 4
230 Vac 50/60 Hz
0 +10 +20 +30 +40  +45 Nm 0 +10 +20 +30 +40 +45  Nm
imite di i % Limite di impiego in ED 50%
+35 I[:S::Z?L;?’,‘:gg‘goiz 50% +35 Limit of use in ED 50% ’
HEE/EBIMA
sec. / 24 Vdc/ac alimentato ac
24 Vac/dc ali .
A ac/de alimen.ac 18 / 24'Vdc/ac alimentato dc
24 Vac/dc alimen.dc
35 | 16
, | 24vde 14 / 24 Vdc
2,5 12
115 Vac 50/60 Hz
) 10 1 230 Vac 50/60 Hz
—
s _’—'ﬁ . //
1 |
0s . 115 Vac 50/60 Hz 0 +20 +40 +60 +80 +85 Nm
’ 230 Vac 50/60 Hz 470 Limite diimpiego in ED 50%
Limit of use in ED 50%
0 +20 +40 +60 +80 +85 ~ Nm
Limite di i ED 50%
+70 it of uso in €0 50%
A = N
A HAE/EBANEAN H%E / 90° HABRAOIERAERY )
3,5 24 Vac/dc alimen.ac sec.
24 Vac/dc alimen.dc 18
3 A 24Vdc 24 Vdc/ac alimentato ac
o5 ] 16
e 24 V/dc/ac alimentato dc
2 14
12 24\Vdc
1,5 — 230 0 115 Vac 50/60 Hz
| 115Vac50/60 He 10 L
1 e
| 230 Vac 50/60 Hz 8 é_/
R
0,5
0 +40 +80 +120 +160 Nm
0 +40 +80 +120 +160 Nm
+130 Limite di impiego in ED 50%

+130 Limite di impiego in ED 50% Limit of use in ED 50%
Limit of use in ED 50%

- 58 -



5.3 + ELECTRIC ACTUATORS > "EA" ON-OFF ROTARY TYPE OMALSPA. o

. _______________________________________________________________________________________________________________________ M
—
-

EA0240
EA0240 WORKING DIAGRAMS

vt .
A HAE/EBNEAN HZE / 90° IHAERIAYIEERT )
7 Sec.
6 30
24 Vac/dc alimen.ac
24Vdc 25 "
5 54Vac/dc alimen.dc / 24 Vdc/ac alimentato ac
20 _ 4 Vdc/ac alimentato dc
4 //,j 24 Vdc
15 — 1230 Vac 50/60 Hz
3 ;;_/_’--—/ 115 Vac 50/60 Hz
10 —]
2 I —— 1i5Vac50/60 Hz
, E———1 5
230 Vac 50/60 Hz
0 50 100 150 200 250 280 Nm
0 475 +150 +225 +280 Nm o
240 Limite di impiego in ED 50%

Limit of ED 50%
+240 Limite di impiego in ED 50% Imit of use in
Limit of use in ED 50%

- _ Y - = = = — — ‘
e ¢ o= ‘ |
;N—ﬁ O i—0f— @)
e iCuil imoiy] | 24 Vac/dc - 24 Vdc
|
= 1od O |
RS E| o A \ ELECTRIC WIRING
Bl todico— | FOR 24 Vac/dc - 24 Vdc SUPPLY
07@_@ :,@ LSAUX2 - ‘
* 5 AC 48V, DC 74V.
e % =0 fikzz/\, min TmA. |
¢ =)
o (E: e 3 _ ol =SS [
HMERERERE ‘ - ﬁ?ﬁ/i ATETGREJ
C
o § CL SRS
o—ro—‘ o0 f b @ ‘
S icat syl | 115 - 230 Vac
|
= Lo |- |
0@ S — | ELECTRIC WIRING
§|—fodirol— = | FOR 115 - 230 Vac SUPPLY —
=) 2| g [ E é
* 5 max 250V. 5S
@{ % :@ faZ :max 3A, ‘ = Q
o min TmA. =
—®f :@j Sy
VAC Q\E @_C 2 :@ SENAEE ‘ é %
shavasem fee o R "TE‘TOREJ

- 59 -



y N

. 54 + ELECTRIC ACTUATORS > ROTARY ELECTRIC ACTUATOR TYPE EF 25-250 OMAL SpA.
.
-
RortARY ELECTRIC ACTUATOR TYPE EF 25-250
TECHNICAL DATA
> [EEECEEFIHITEE , BFFERFNETEA% Rotating electric actuator that can be utilized in either open/close or modula-
> ETHERNAE - 90° ~ 180° ting applications.

> FF/X/FRERE

> $H%E : 10 - 100 Nm

> FRAHA%E : 25 - 250 Nm

> E8JE : AC 100-230V, 50/60 Hz
AC/DC 24V, 50/60 Hz

FEREBE : +/- 15%

{KEBEIES : CE 2006/95/CE

ERiFRATES - CE 2004/108/CE

INEEE - -10° C1+50° C

V.V VYV YV VYV

FHHPEELR - IP65 S ENG0529%R/E
( ANfEFREB S R EE LA AAIP6T )
HigFE<S : 2006/42/EC, Annex 11 B
PRI T2 RAE © EN 15714-2
SRt REERERRE
EEEET-10° C, MRERENSR , TEINHTTH

vV V Vv Vv

Used to operate valves with rotating angle from 90° to 180°
Open/close/middle position
Nominal torque: 10-100 Nm
Peak torque: 25-250 Nm
Rated voltage: : AC 100-230V, 50/60 Hz
AC/DC 24V, 50/60 Hz
Rated voltage tollerance: +/- 15%
Protection class: IP 65 (IP 67 when used with cable glands and vertical installa-
tion) per EN60529
Low voltage directive CE 2006/95/CE
Electromagnetic compatibility directive CE 2004/108/CE
Machinery Directive 2006/42/EC, Annex Il B
Actuators for industrial valves EN 15714-2
Ambient temperature: -10°C' +50°C
Allowable humidity: Max. 90% relative humidity, non-condensing
Housing material: glass-filled PP

T At temperature below -10°C and if there is condensation, the heating element
should be activated.

> ENEE  BR. BE

> W4 . DPIIZRZ

> BFRIRE] - &AM, FMNEPIRENR

> HHEgE | FEEAEN. EITEEE. EBEBRENR

OPTIONAL ON REQUEST

Positioner: Current, voltage

Network: Profibus DP

Fail safe return: Battery back up, externally powered board

Smart module: Cycle monitoring, cycle counter, motor current monitoring

- 60 -




54 « ELECTRIC ACTUATORS > ROTARY ELECTRIC ACTUATOR TYPE EF 25-250 OMALSPA. i
_P.ee e e

.
N 4
DATA SHEET

EF 25 EF 45 EF 120 EF 250
EREtA%E Nominal torque (Nm) 10 20 60 100
BXIHIH%E Peak output torque (Nm) 25 45 120 250
T{EREHR Duty cycle 100% 50% 50% 35%
EUEAEIERGE Cycle time at nominal torque 5 5/90° 6 5/90° 15 5/90° 20 5/90°

100-230 VAC, 50/60 HZ
24VAC/DC, 50/60 HZ
35VA @ 100-230VAC | 55VA @ 100-230VAC | 50VA @ 100-230VAC | 60VA @ 100-230VAC
40VA @ 24VAC/DC | 60VA @ 24VAC/DC = 55VA @ 24VAC/DC | 65VA @ 24VAC/DC

ERXEFBIE Rated voltage

EEHH Rated output

0.35A @ 100VAC 0.55A @ 100VAC 0.5A @ 100VAC 0.55A @ 100VAC
SEFEE Current draw 0.15A @ 230 0.24A @ 230 0.22A @ 230 0.26A @ 230
1.7A @24VDC 2.5A @24VDC 2.3A @24VDC 2.7A @24VDC
B8 Weight (kg) 2,1 2,2 3,6 5
TRy Actuating angle Max. 355°, set @ 90°
TSZEIHA (20°CEREIHSE ) Tested cycles (at 20°C and nominal torque) 250 000 \ 100 000 100 000 \ 75 000

H
$4.50x5 5

o

N

N

EF 25-45 EF 120-250
DIMENSIONS

TYPE IS0 A B [ D E F H L Q oV oW
EF 25 FO5 122 150 167 108 33 83 189 64 14 50 M6
EF 45 FO5 122 150 167 108 33 83 189 64 14 50 M6
EF 120 Fo7 122 150 190 108 33 83 212 64 17 70 M8
EF 250 Fo7 122 150 208 108 33 83 230 64 17 70 M8

Ug
o
£9
=<
W
=
= Y]
ZS
Oov
=
E=
@

-61 -



[=] 3 [m]

Foe
[=]

OMAL KRE/RPEEMN
[www.omal.comcn  [§




— e
... e
T T T T
EMPOWERED PERFODRMANCE

OMAL S.P.A

Via Ponte Nuovo,11 25050 Rodengo Saiano Brescia Italy
Tel.+390308900145 r.a Fax.+390308900423

OMAL (BRBB/R ) PEMESHL

www.omal.com.cn info@tecreal.com
it RN EAXEQERANECIAKEREE 1817
Tel: +86 0755 3333 5656 L5 +86 010 5369 6966  _Eig +86 021 6426 0337
Fax:+86 0755 3333 5656 1<#& +86 0431 8899 6969 iR +86 027 8288 9188





